Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in the State of West Bengal, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di the site (in S	imension (in i	M.]/Area of	Finance to b by the appli Lakhs)		Mode of Selection	Minimum	Security Deposit (Rs. in Lakhs)
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC	7 CC / DC / CFS	8 Frontage	Depth	Area	9a Estimated working	9b Estimated fund	10 Draw of Lots /	11	12
					SC CC-1	-				capital requiremen t for	required for developmen t of	Bidding		
					ST CC-1					operation of RO	infrastructu re at RO			
					ST PH									
					OBC CC-1									
					OBC PH OPEN									
					OPEN CC-1									
					OPEN CC-2	-								
1	IN BETWEEN INDIRA VILLAGE TO HATIA VILLAGE ON CHOWHATTA SAINTHIA ROAD	BIRBHUM	RURAL	110	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
2	WITHIN 5 KM OF AKKHUTA MORE TOWARDS RANIBANDH ON AKKHUTA MORE - RANIBANDH ROAD	BANKURA	RURAL	160	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
3	LALPUR TO SUPURDI ON JHALIDA - MURGUMA ROAD	PURULIA	RURAL	90	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
4	MOUZA- JOTEBASANTA, ON MALDA TOWN TO PIRGANJ ROAD	MALDA	RURAL	126	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
5	IN BETWEEN SWARUPGANJ DURGA MANDIR TO BIHAR BORDER.	MALDA	RURAL	89	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
6	WITHIN 3 KMS FROM TIN MATHAR MORE (GOHALMARA CHOWK) ON RAGRA-LOADHASULI ROAD TOWARDS LODHASULI.	JHARGRAM	RURAL	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
7	WITHIN 3 KMS FROM KHALINA PNB TOWARDS BAKHRABAD ON BAKHRABAD-KHAKURDA ROAD.	PASCHIM MEDINIPUR	RURAL	110	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
8	CHAWLKHOLA BUS STAND TO MANDARMANI ON CHAWLKHOLA-MANDARMANI ROAD.	PURBA MEDINIPUR	RURAL	140	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
9	WITHIN 2 KM OF BENGAL INSTITUTE OF TECH. & MGMT. ON BOLPUR KABI JOYDEV ROAD (SRINIKETAN ROAD)	BIRBHUM	RURAL	150	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
10	WITHIN 10 KM OF KULTI RAILWAY STATION (NOT ON NH/SH/MUNICIPAL LIMIT)	PASCHIM BARDHAMAN	RURAL	110	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
11	ON THE ROAD CONNECTING BOLPUR AND PURANDARPUR	BIRBHUM	RURAL	170	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
12	ON KHAYRASOLE - BABUJIORE ROAD	BIRBHUM	RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
13	ON THE ROAD CONNECTING KHAYRASOLE AND BHADDI ON RHS WHILE MOVING FROM KHAYRASOLE TOWARDS BHADDI	BIRBHUM	RURAL	70	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
14	ON ROAD CONNECTING NALHATI ON NH - 60 AND WEST BENGAL - JHARKHAND BORDER VIA BAHADURPUR	BIRBHUM	RURAL	368	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
15	ON BOLPUR LAGHTA LAVPUR ROAD	BIRBHUM	RURAL	85	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
16	WITHIN 2 KM RADIUS OF GOLTE PRIMARY SCHOOL	BIRBHUM	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
17	BETWEEN RANAGHAT STADIUM TO UKILNARA CHAUMATHA ON JOGPUR ROAD	NADIA	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
18	ON THE ROAD CONNECTING SAINTHIA AND SURI VIA MATHPALSA	BIRBHUM	RURAL	120	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
19	BETWEEN DOMOHANI BAZAR TO TOTARAMA MORE ON RHS WHILE MOVING FROM DOMOHANI BAZAR TO TOTARAMA MORE	PASCHIM BARDHAMAN	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
20	BETWEEN MUCHIPARA TO BAMUNARA ON MUCHIPARA - BAMUNARA ROAD	PASCHIM BARDHAMAN	RURAL	110	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
21	ON SALBADRA MOLLARPUR ROAD	BIRBHUM	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
22	WITHIN 10 KM RADIUS OF BAKRESHWAR (NOT ON NH/SH/MUNICIPAL LIMIT)	BIRBHUM	RURAL	94	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4

23	IN BETWEEN ANDAL TO PANDAVESHAR THROUGH ANDAL UKHRA KHANDRA PANDAVESHAR ROAD	PASCHIM BARDHAMAN	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
24	ON AMRAPARA MAHESHPUR MURARAI ROAD	BIRBHUM	RURAL	180	SC	CFS	25	25	625	0	0	Draw of Lots (0	2
25	WITHIN 5 KM OF STATE BANK OF INDIA ULKUNDA BRANCH	BIRBHUM	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
26	ON ASANSOL GOURANDI ROAD	PASCHIM BARDHAMAN	RURAL	200	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
27	IN BETWEEN SARPI TO PANDAVESHAR THROUGH JHANJHRA ROAD	PASCHIM BARDHAMAN	RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
28	ON THE ROAD CONNECTING JAMHURIA AND BAHADURPUR	PASCHIM BARDHAMAN	RURAL	95	SC	CFS	25	25	625	0	0	Draw of Lots	D	2
29	ON THE ROAD CONNECTING KHANDRA AND SIDUILI	PASCHIM BARDHAMAN	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
30	BETWEEN GAIGHATA MORE TO UKHRA BAZAR	PASCHIM BARDHAMAN	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
31	ON THE ROAD CONNECTING DURGAPUR GOVT. COLLEGE AND IQ CITY MEDICAL COLLEGE HOSPITAL	PASCHIM BARDHAMAN	RURAL	100	OPEN CC 2	DC	25	25	625	16	35	Draw of Lots	5	4
32	WITHIN 5 KM RADIUS OF SASHPUR (NOT ON NH/SH/MUNICIPAL LIMIT)	BIRBHUM	RURAL	100	OBC CC 1	DC	25	25	625	16	35	Draw of Lots	5	3
33	BETWEEN MAKRAMPUR TO LAVPUR VIA KANKALITALA THROUGH BOLPUR - LAVPUR ROAD	BIRBHUM	RURAL	90	SC CC 1	CFS	25	25	625	0	0	Draw of Lots	D	2
34	WITHIN 10 KM RADIUS OF BISHNUPUR HIGH SCHOOL	BIRBHUM	RURAL	90	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
35	WITHIN 10 KM RADIUS OF LOKEPARA MAHAVIDYALAYA, DHEKA	BIRBHUM	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
36	ON THE ROAD CONNECTING CHATRA AND KHANPUR	BIRBHUM	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
37	BETWEEN TARULIA MORE TO SASHPUR MORE	BIRBHUM	RURAL	80	SC	CFS	25	25	625	0	0	Draw of Lots)	2
38	WITHIN 10 KM RADIUS OF HETODOBA INDUSTRIAL AREA (NOT ON NH/SH/MUNICIPAL)	PASCHIM BARDHAMAN	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
39	ON THE ROAD CONNECTING HLG MEMORIAL HOSPITAL ASANSOL TO RUNAKURAGHAT BRIDGE VIA PANCHGACHIA	PASCHIM BARDHAMAN	RURAL	150	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
40	ON THE ROAD CONNECTING DOMOHANI BAZAR AND JAMURIA	PASCHIM BARDHAMAN	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
41	WITHIN 10 KM RADIUS OF GANDHI MEMORIAL GIRLS HIGH SCHOOL, RANIGANJ	PASCHIM BARDHAMAN	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
42	WITHIN 10 KM RADIUS OF PACHAMI (NOT ON NH/SH/MUNICIPAL LIMIT)	BIRBHUM	RURAL	140	ST	CFS	25	25	625	0	0	Draw of Lots	D	2
43	WITHIN 5 KM RADIUS OF CHHORA (NOT ON NH/SH/MUNICIPAL)	PASCHIM BARDHAMAN	RURAL	90	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
44	WITHIN 10 KM RADIUS OF GOURANGDI	PASCHIM BARDHAMAN	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
45	ON THE ROAD CONNECTING SURI AND KENDULI	BIRBHUM	RURAL	110	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
46	WITHIN 10 KM OF KENDA AREA COMPLEX, ON ROAD CONNECTING UKHRA TO HARIPUR	PASCHIM BARDHAMAN	RURAL	300	SC	CFS	25	25	625	0	0	Draw of Lots	D	2
47	ON THE ROAD CONNECTING NALHATI AND PAKURIA	BIRBHUM	RURAL	400	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
48	WITHIN 5 KM RADIUS OF NACHAN (NOT ON NH/SH/MUNICIPAL)	PASCHIM BARDHAMAN	RURAL	90	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
49	WITHIN 5 KM RADIUS OF CHINCHURIA (NOT ON NH/SH/MUNICIPAL)	PASCHIM BARDHAMAN	RURAL	90	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
50	BETWEEN BARA CHANDGHAR HIGH SCHOOL TO KULGACHI MASJID ON PLASSEY-BETAI ROAD	NADIA	RURAL	110	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
51	WITHIN 10 KM FROM OUTER PERIPHERY OF RAMPURHAT TOWN (OUTSIDE MUNICIPAL LIMIT)	BIRBHUM	RURAL	110	ST	CFS	25	25	625	0	0	Draw of Lots	D	2
52	WITHIN 5 KM RADIUS OF ICHAPUR (NOT ON NH/SH/MUNICIPAL AREAS)	PASCHIM BARDHAMAN		90	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
53	WITHIN 2 KM RADIUS OF GST COMMISSIONERATE ON NANOOR CHANDIDAS ROAD	BIRBHUM	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
54	ON THE ROAD CONNECTING JOYDEV FERI GHAT TO SH - 14 VIA PAYER	BIRBHUM	RURAL	115	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
55	BETWEEN GANKAR SUB HEALTH CENTRE AND MANIGRAM ON SAGARDIGHI POWER PLANT RD	MURSHIDABAD	RURAL	110	SC	CFS	25	25	625	0	0	Draw of Lots	D	2
56	WITHIN 2 KM OF SBI BATASPUR BRANCH OFFICE ON RAINA-GOTAN RD	PURBA BARDHAMAN	RURAL	62	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
57	ON UCHALAN-GOPALBERA-BAMUNIA ROAD	PURBA BARDHAMAN	RURAL	70	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
58	SALAR COLLEGE MORE TO KAGRAM ON KANDI KATWA RD	MURSHIDABAD	RURAL	50	OBC PH	DC	25	25	625	16	35	Draw of Lots	5	3
59	SAGRAI MORE TO RAINA -1 KRISHAK BAZAR ON SAGRAI-SHYAMSUNDAR-RAINA ROAD	PURBA BARDHAMAN	RURAL	55	SC PH	CFS	25	25	625	0	0	Draw of Lots	D	2
60	MOHAMMADPUR GRAM PANCHAYAT OFFICE TO NASHIPUR HIGH SCHOOL ON AKHRIGANJ BHAGWANGOLA ROAD	MURSHIDABAD	RURAL	70	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
61	SATGACHIA ROAD	PURBA BARDHAMAN	RURAL	64	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
62	PALSANDA MORE TO NARIKEL BAGAN ON LALBAGH-PALSANDA ROAD	MURSHIDABAD	RURAL	55	OBC	DC	25	25	625	16	35	Draw of Lots	5	3

63	FROM NOWDA HIGH SCHOOL TO PATIKABARI HIGH SCHOOL ON AMTALA-PATIKABARI RD	MURSHIDABAD	RURAL	140	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5 1	4
64	GOBINDAPUR PRIMARY SCHOOL TO DANGAPARA PRIMARY SCHOOL ON GANTLA GHAT ROAD	MURSHIDABAD	RURAL	120	SC	CFS	25	25	625	0	0	Draw of Lots (0	2
65	BETWEEN SUDNA TO BAHADURPUR HIGH SCHOOL ON KENDUA-SUDNA-PASHUPARA-TALIPUR RD.	MURSHIDABAD	RURAL	93	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
66	MADHABDIHI 33 KV SUB STATION TO ST. NECTARIO CHURCH ON SAGRAI MORE - SHYAMSUNDAR -	PURBA BARDHAMAN	RURAL	60	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
67	PAHALANPUR ROAD DEBIPUR RAILWAY CROSSING TO SULTANPUR GRAM PANCHAYAT OFFICE	PURBA BARDHAMAN	RURAL	62	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
68	WITHIN 10 KM OF BAIDYAPUR RAMKRISHNA VIDYAPITH ON BOINCHI-MIRHAT-KALNA RD	PURBA BARDHAMAN	RURAL	67	ST	CFS	25	25	625	0	0	Draw of Lots 0	D	2
69	WITHIN 2 KM FROM BARAFKHANA TINKARI HIGH SCHOOL ON ABUTTING ROAD	MURSHIDABAD	RURAL	85	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
70	WITHIN 5 KM OF NIBHUJI MORE TOWARDS BAGHNAPARA ON KALNA-MEMARI RD	PURBA BARDHAMAN	RURAL	52	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
71	FROM BURWAN KRISHOK BAZAR TO KANDI FIRE STATION ON KANDI-DAKBANGLA ROAD	MURSHIDABAD	RURAL	160	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots 5	5	4
72	CHHATNI MORE TO PUTSURI ON JAMALPUR-SANGHOSHPARA-SAMASPUR RD	PURBA BARDHAMAN	RURAL	92	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
73	FROM TENTULIA TO CHHATAI ON GUDHIA-TENTULIA-CHHATAI-DEBAIPUR RD.	MURSHIDABAD	RURAL	75	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
74	WITHIN 5 KM OF SATGACHIA 220 KV SUBSTATION ON SATGACHIA-DHATRIGRAM ROAD	PURBA BARDHAMAN	RURAL	52	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
75	SAIDABAD MANINDRA CH. VIDYAPITH TO LALBAGH SINGHI HIGH SCHOOL ON BERHAMPORE- MOTLJHIL BYPASS RD.	MURSHIDABAD	RURAL	67	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
76	BHATSALA TO KUSHABERIA ON DOMKAL JITPUR ROAD	MURSHIDABAD	RURAL	60	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
77	WITHIN 5 KM OF RAMNAGAR HIGH MADRASAH ON SHEIKHPARA-RAMNAGAR-MARICHA RD	MURSHIDABAD	RURAL	75	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
78	AJAGARPARA TO TARAMORE ON AJAGARPARA- RAJGRAM RD.	MURSHIDABAD	RURAL	98	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
79	BETWEEN MIRZAPUR AND GANKAR SUB HEALTH CENTRE ON SAGARDIGHI POWER PLANT RD	MURSHIDABAD	RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
80	FROM BERHAMPORE CIRCUIT HOUSE TO HARIDASMATI ON SWAMIAKHANDANANDA SARANI(OLITSIDE MUNICIPAL LIMITS)	MURSHIDABAD	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
81	FROM BHATSALA TO HARISHANKARPUR SRIKRISHNA VIDYAPITH ON DOMKAL-KARIMPUR RD	MURSHIDABAD	RURAL	70	OBC CC 1	DC	25	25	625	16	35	Draw of Lots 5	5	3
82	BETAI-PLASSEY MORE TO SHYAMNAGAR MORE ON BETAI-PLASSEY ROAD	NADIA	RURAL	120	SC CC 1	CFS	25	25	625	0	0	Draw of Lots	D	2
83	CHAKAI TO KULDHANGA MORE CHOURASTA VIA DHULAI	BANKURA	RURAL	130	OPEN PH	DC	25	25	625	16	35	Draw of Lots 5	5	4
84	BARJORA MORE TO GHUTGORIA HIGH SCHOOL, ON BARJORA - DURLAVPUR ROAD	BANKURA	RURAL	130	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
85	HATASHURIA MORE TO KULDANGA MORE CHOURASTA (VIA TAJPUR MORE & MAITYA) ON PAKHANNA ROAD	BANKURA	RURAL	105	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
86	WITHIN 5 KM RADIUS OF MAYURESHWAR (NOT ON NH/SH/MUNICIPAL LIMIT)	BIRBHUM	RURAL	95	SC	CFS	25	25	625	0	0	Draw of Lots	D	2
87	WITHIN 4 KM FROM TAMNA MORE, ON ROAD CONNECTING NH18 (NH 32) AND AJODHYA HILL (VIA RAMPUR)	PURULIA	RURAL	130	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
88	WITHIN 3 KM OF RAGHUNATHPUR 132 KVA STATION ON RAGHUNATHPUR - CHELEYMA ROAD	PURULIA	RURAL	120	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
89	WITHIN 7 KM FROM NETAJI MORE BUS STAND ON NETAJI MORE BUS STAND - DESHRA ROAD VIA	BANKURA	RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
90	BETWEEN JUNBEDIYA MORE BANKURA & JUNBEDIYA GRAM PANCHAYAT ON JUNBEDIYA ROAD	BANKURA	RURAL	130	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
91	LACHMANPUR TO SIRKABAD BUS STAND ON ROAD CONNECTING NH 18 (NH 32) AND AJHODHYA	PURULIA	RURAL	120	SC	CFS	25	25	625	0	0	Draw of Lots)	2
92	PORADIH TO PUNCHA (VIA JAIKALLA AND PATKUA) ON INDPUR -PUNCHA ROAD	PURULIA	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
93	HALDI TO ADILPUR (VIA BANKI) ON SAHASPUR - AQUI ROAD	BANKURA	RURAL	90	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
94	JHALDA TO JHARKHAND BORDER ON MEREND - GOLA ROAD (NOT ON STATE HIGHWAY)	PURULIA	RURAL	130	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots 5	5	4
95	MOHESHPUR TO JOYKRISHNAPUR ON SONAMUKHI TO JOYKRISHNAPUR ROAD	BANKURA	RURAL	120	SC	CFS	25	25	625	0	0	Draw of Lots	D	2
96	BETWEEN RASULLAPUR BAZAR TO NIMTALA BAZAR ON CHAKDHA-NIMTALA ROAD	NADIA	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
97	BETWEEN NAGARUKHRA KSHETRA-MOHAN GIRLS HIGH SCHOOL TO JHIKRA BAZAAR ON NAGARUKHRA TO HABRA ROAD	NADIA	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
98	WITHIN 4 KMS FROM KALINAGAR HOSPITAL MORE TOWARDS GADRA BASTI	JALPAIGURI	RURAL	65	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4
99	BETWEEN NH-12 JUNCTION TO KALYANI ON AIIMS ROAD (OUTSIDE KALYANI MUNICIPALITY)	NADIA	RURAL	170	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
100	WITHIN 2.5 KM FROM KUSIDHA ON KUSIDHA TULSIHATA ROAD.	MALDA	RURAL	110	OBC	DC	25	25	625	16	35	Draw of Lots 5	5	3
101	IN BETWEEN PATIRAM TO KAMALPUR ON PATIRAM - HILLI HIGHWAY	DAKSHIN DINAJPUR	RURAL	95	SC	CFS	25	25	625	0	0	Draw of Lots	D	2
102	WITHIN 2 KMS FROM ROHINI TOLL PLAZA ON MATIGARA KURSEONG ROAD	DARJEELING	RURAL	150	OPEN	DC	25	25	625	16	35	Draw of Lots 5	5	4

103	IN BETWEEN ARAZI KASIMPUR TO SHEKHPUR, ON HEMTABAD TO BISHNUPUR ROAD.	UTTAR DINAJPUR	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
104	FROM CHAMPASARI TRAFFIC POST TO JADUVITTA ON MILAN MORE ROAD OUTSIDE MUNICIPAL	DARJEELING	RURAL	110	ST	CFS	25	25	625	0	0	Draw of Lots 0	2
105	LIMIT WITHIN 1 KM FROM RELLI MUKTI BRIDGE, KALIMPONG DISTRICT	KALIMPONG	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots 5	4
106	WITHIN 2 KMS JOGIGHAT BRIDGE ON SITONG ROAD	DARJEELING	RURAL	75	OPEN	DC	20	20	400	16	35	Draw of Lots 5	4
107	IN BETWEEN RATUA BLOCK-II ADA OFFICE TO NAUGAMA KALI MANDIR .	MALDA	RURAL	81	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
108	WITHIN 1.5 KM FROM BHOTAMARI GANDHIJI MORE TOWARDS SONAPUR HAT.	UTTAR DINAJPUR	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
109	BETWEEN NOKARI BAZAAR TO DHANTALA BAZAAR ON RANAGHAT TO DUTTAPULIA ROAD	NADIA	RURAL	140	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
110	MOUZA- DANGRADANGRI, ON BHAISPITA BAJAR TO HAPTIAGACCH ROAD.	UTTAR DINAJPUR	RURAL	95	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
111	FROM BAGDOGRA PANIGHATA MORE TO SATBHAIYA CHECK POST, NAXALBARI ON PANIGHATA	DARJEELING	RURAL	85	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
112	BAGDOGRA MAIN ROAD WITHIN 1 KM FROM BETNA TOWARDS ITAHAR ON HARIRAMPUR TO ITAHAR ROAD	DAKSHIN DINAJPUR	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
113	WITHIN 6 KMS FROM SONAPUR CHOWPATHY TO PUNDIBARI ON PWD ROAD	COOCH BEHAR	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
114	WITHIN 5 KM FROM BARODUARY TOWARDS MAHARAJA HAT.	UTTAR DINAJPUR	RURAL	95	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
115	IN BETWEEN BAISHNABNAGAR POLICE STATION TO KRISHNAPUR.	MALDA	RURAL	107	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
116	WITHIN 3 KM FROM SHYAMPUR MORE TOWARDS ABHOR BRIDGE ON RAIGANJ BYPASS.	UTTAR DINAJPUR	RURAL	115	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
117	FROM AMGURI RAMMOHAN HIGH SCHOOL TO PANBARI ON MAYNAGURI-AMGURI-RAMSAI ROAD	JALPAIGURI	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
118	IN BETWEEN DARALHAT PRIMARY SCHOOL TO MURADPUR ON TAPAN - BALURGHAT ROAD.	DAKSHIN DINAJPUR	RURAL	77	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
119	WITHIN 2 KM FROM HARIRAMPUR TOWARDS DAULATPUR.	DAKSHIN DINAJPUR	RURAL	85	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
120	UPTO 1KM FROM JHALTIA CHOWPATHI TO THAKURPATH BAZAR	JALPAIGURI	RURAL	60	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots 5	4
121	IN BETWEEN MOTHABARI TO SADULLAPUR ON RURAL ROAD.	MALDA	RURAL	92	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
122	UPTO 3KMS FROM RAJADANGA PENDA MAHAMMAD HIGH SCHOOL TOWARDS KRANTI	JALPAIGURI	RURAL	120	sc	CFS	25	25	625	0	0	Draw of Lots 0	2
123	IN BETWEEN STYLE BAZAR TO SUPER SPECIALTY HOSPITAL IN CHANCHAL.	MALDA	RURAL	112	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
124	MOUZA- SATTARI, ON BABLA TO AMRITY ROAD.	MALDA	RURAL	105	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
125	VILLAGE- UTTAR SIBRAMPUR ON ASURAGARH TO JAMIRA ROAD.	UTTAR DINAJPUR	RURAL	84	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
126	FROM MEKHILIGANJ BUS STAND TO DHAPRA BAZAAR	COOCH BEHAR	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
127	WITHIN 1 KM FROM FARIDPUR DOMOTHA ON PRANSAGAR TO KUMARGANJ ROAD	DAKSHIN DINAJPUR	RURAL	85	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
128	WITHIN 2 KM FROM ILLUABARI - ISLAMPUR BYPASS MORE, TOWARDS ISLAMPUR TOWN.	UTTAR DINAJPUR	RURAL	85	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
129	MOUZA- GAURI, ON NARAM ROAD , BLOCK- RAIGANJ.	UTTAR DINAJPUR	RURAL	88	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
130	MOUZA- THINAGAR ,ON PAKUAHAT - NALAGOLA ROAD.	MALDA	RURAL	90	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
131	KHARI, MATHURAPUR II BLOCK (NOT ON NH/SH)	SOUTH 24 PARGANAS	RURAL	80	SC CC 1	CFS	25	25	625	0	0	Draw of Lots 0	2
132	BETWEEN AMTA-RANIHATI ROAD CROSSING AND MUNSHIRHAT ON PANPUR-MAJU-MUNSHIRHAT ROAD (NOT ON NH/SH)	HOWRAH	RURAL	80	OPEN CC 2	DC	25	25	625	16	35	Draw of Lots 5	4
133	BETWEEN MOUKHALI AND CANNING ON CANNING-HEROBHANGA ROAD	SOUTH 24 PARGANAS	RURAL	80	OBC CC 1	DC	25	25	625	16	35	Draw of Lots 5	3
134	WITHIN 4 KM FROM CHANCHAL DISHARI NURSING HOME TOWARDS ASHAPUR.	MALDA	RURAL	105	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
135	WITHIN 2 KMS FROM RPF TRAINING CENTRE DOMOHINI ON DOMOHINI SINGIMARI ROAD	JALPAIGURI	RURAL	90	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
136	WITHIN 3KMS FROM DEOGAON HIGH SCHOOL TO GOBINHAT	ALIPURDUAR	RURAL	130	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
137	MOUZA- GOALPARA , ON KOLKIMORE POLICE CAMP - MALATIPUR ROAD , BLOCK- CHANCHAL-II.	MALDA	RURAL	79	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
138	MAL BAZAR TO TESIMALA ON LATAGURI- RAJADANGA- MALBAZAR ROAD	JALPAIGURI	RURAL	150	OPEN	DC	25	25	625	16	35	Draw of Lots 5	 4
139	IN BETWEEN BHULKI TO BURIHAN ON DOMOHANA - RASAKHOWA ROAD.	UTTAR DINAJPUR	RURAL	73	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
140	KHARIBARI TO BADU (OUTSIDE MUNICIPAL LIMITS)	NORTH 24 PARGANAS	RURAL	140	ST	CFS	25	25	625	0	0	Draw of Lots 0	2
141	WITHIN 4KMS FROM FULBARI BYPASS MORE TOWARDS CANAL MORE ON AMBARI-CANAL ROAD	JALPAIGURI	RURAL	140	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
142	UPTO 2KMS FROM BHALOBASA MORE ON NJP CANAL ROAD	JALPAIGURI	RURAL	130	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4

143	WITHIN 3KMS FROM MUAMARI RAILWAY BRIDGE TOWARDS MAYNAGURI ASSAM MORE	JALPAIGURI	RURAL	110	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
144	WITHIN 4KMS FROM HATIMORE TOWARDS AMBARI FALAKATA	JALPAIGURI	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots 0	9
	FROM BALARAMPUR TEPOTHI TO JIRANPUR BAZAAR ON BALARAMPUR ROAD									0	35		2
145		COOCH BEHAR	RURAL	90		DC	25	25	625	16		Draw of Lots 5	4
146	HADIA, BHANGAR II BLOCK (NOT ON NH/SH)	SOUTH 24 PARGANAS	RURAL	80		DC	25	25	625	16	35	Draw of Lots 5	4
147	NAULA, MATHURAPUR-I BLOCK (NOT ON NH/SH)	SOUTH 24 PARGANAS	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
148	TAPURHAT CHOWPATI TO PASHARI HAT ON KAKINA ROAD	COOCH BEHAR	RURAL	70	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
149	HALDIBARI TO JOYEE BRIDGE	COOCH BEHAR	RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
150	WITHIN 4 KM FROM AMBARI TOWARDS BELAKOBA ON AMBARI-BELAKOBA PWD ROAD	JALPAIGURI	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
151	WITHIN 1 KM FROM SHITALPUR VIA NAGOR BAZAR TOWARDS BHATOL.	UTTAR DINAJPUR	RURAL	75	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
152	WITHIN 3KMS FROM BASUDEB GIRLS' HIGH SCHOOL TOWARDS HALDIBARI ON MADALGHAT- HALDIBARI ROAD	JALPAIGURI	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
153	WITHIN 3 KM FROM SITAKUCHI POLICE STATION TO GOSAIRHAT ON SITAI ROAD	COOCH BEHAR	RURAL	70	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
154	UPTO 2KMS FROM BODAGANJ ON RANGDHAMALI-BODAGANJ-GAJOLDOBA ROAD	JALPAIGURI	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
155	MOUZA- PASCHIM CHUTIAKHOR ON CHOPRA TO DASPARA ROAD.	UTTAR DINAJPUR	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
156	DAKSHIN HANSKHALI ON CANAL ROAD	JALPAIGURI	RURAL	90	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
157	WITHIN 5 KM FROM DVC CANAL BRIDGE ON DASGHARA-DHANIAKHALI ROAD TOWARDS DASGHARA	HOOGHLY	RURAL	100	ST PH	CFS	25	25	625	0	0	Draw of Lots 0	2
158	MERAGANJ, KULTALI BLOCK (NOT ON NH/SH)	SOUTH 24 PARGANAS	RURAL	80	OBC PH	DC	25	25	625	16	35	Draw of Lots 5	3
159	KHARIKA BAKUL TOLA TO BALI GERIA ON BALI GERIA-KHARIKAMATHANI-NAYAGRAM ROAD.	JHARGRAM	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
160	BETWEEN PAHARAJPUR AND RAGRA BUS STAND ON RAGRA-ROHINI-KULTIKRI ROAD.	JHARGRAM	RURAL	340	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
161	BETWEEN SHONEPUR BRIDGE & GHATAKPUKUR BRIDGE ON LAUHATI-BHANGAR ROAD IN BHANGAR-II BLOCK	SOUTH 24 PARGANAS	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
162	GAIGHATA JALESWAR MORE TO HANSPUR BAZAR ON BAGNA TO NAGARUKHRA ROAD	NORTH 24 PARGANAS	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
163	FROM HOOMGARH BAZAAR TO BAGRIDIHI SHIV MANDIR ON HOOMGARH GARBHETA ROAD.	PASCHIM MEDINIPUR	RURAL	190	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
164	WITHIN 3 KM FROM SBI CHUNPARA TOWARDS MANIKDIPA BAZAAR ON HOOMGARH-GARBHETA ROAD.	PASCHIM MEDINIPUR	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
165	WITHIN 5 KMS OF MURARISAH CHOWMATA TOWARDS BASIRHAT ON BASIRHAT-MURARISAH IROADINOT ON NH/SHI	NORTH 24 PARGANAS	RURAL	95	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
166	BETWEEN MATHURAPUR RAIL GATE AND GHORADAL HIGH SCHOOL ON GHORADAL ROAD NOT ON NH/SH	SOUTH 24 PARGANAS	RURAL	80	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
167	BALICHAK TO MUNDUMARI BAZAAR ON DEBRA-TEMATHANI ROAD.	PASCHIM MEDINIPUR	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
168	WITHIN 3 KMS FROM BARANGI BAZAAR ON MOHANPUR-SOLPATTA ROAD TOWARDS MOHANPUR.	PASCHIM MEDINIPUR	RURAL	200	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
169	FROM PIRAKATA BAZAAR TO SATPATI FOOTBALL GROUND ON PIRAKATA-BHADUTOLA ROAD.	PASCHIM MEDINIPUR	RURAL	150	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
170	KEOTSHA BAZAAR TO ATGHARA HIGH SCHOOL ON KEOTSHA TO MOGRA ROAD	NORTH 24 PARGANAS	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
171	VILLAGE AMBIKAPUR-MAMUDPUR ON TALIKHOLA TO SINDRANI ROAD ON RHS	NORTH 24 PARGANAS	RURAL	90	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
172	FROM JAMNA MARKET TO GANGADAS CHAK BUS STOP ON BALICHAK-TEMATHANI ROAD	PASCHIM MEDINIPUR	RURAL	100	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots 5	4
173	BHANSRAGHAT TO KESHIARY ON NAYAGRAM-BHANSRAGHAT-KESHIARY ROAD.	PASCHIM MEDINIPUR	RURAL	230	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
174	BETWEEN CHANDKURI BUS STOP TO MASANTAPUKUR BUS STOP ON BALICHAK-PATASHPUR ROAD	PASCHIM MEDINIPUR	RURAL	150	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
175	PUMLIA BAZAAR TO SENDANGA BAZAAR ON RAJBERIA MORE TO KOCHUA ROAD	NORTH 24 PARGANAS	RURAL	110	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
176	WITHIN 2 KM FROM KHAMRAI TELECOM TOWARDS KONTAI JINAGERYA ON MAKRAMPUR- TEMATHANI ROAD	PASCHIM MEDINIPUR	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
177	WITHIN 10KM FROM KALNA MORE TOWARDS KALNA ON KALNA-PANDUA ROAD (NOT ON NH/SH)	HOOGHLY	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
178	WITHIN 2 KMS FROM DEULDANGA PRIMARY SCHOOL ON DHERUA-MIDNAPUR ROAD TOWARDS	PASCHIM MEDINIPUR	RURAL	150	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
179	DHERUA. WITHIN 2 KMS FROM ISKON KHARAGPUR TOWARDS JAMNA ON CITY ROAD.	PASCHIM MEDINIPUR	RURAL	140	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
180		HOOGHLY	RURAL	100	SC CC 1	CFS	25	25	625	0	0	Draw of Lots 0	2
181	MUNICIPAL AREA) NATUNPUKUR CHANDI MANDIR TO ANNAPURNA FISH MARKET ON MUNDUMARI-MOYNA ROAD.	PURBA MEDINIPUR	RURAL	180	OBC CC 1	DC	25	25	625	16	35	Draw of Lots 5	3
182	WITHIN 3 KMS FROM CUSTOMER SERVICE POINT, VIDYASAGAR CHAK TOWARDS TAKLA ON	PASCHIM MEDINIPUR	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
	GOPINATHPUR ROAD.		1	L				l			L	L	

183	WITHIN 4 KMS FROM DANTAN BHATTER COLLEGE TOWARDS SHARA SHANKA ALONG COLLEGE	PASCHIM MEDINIPUR	RURAL	170	OPEN PH	DC	25	25	625	16	35	Draw of Lots 5	4
184	ROAD. RAJBERIA MORE TO NURPUR BAZAR ON KACHUA-RAJBERIA ROAD NOT ON NH/SH	NORTH 24 PARGANAS	RURAL	80	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
185	WITHIN 3KM FROM SALARPUR BRIDGE ON KAMARPARA-JAGULIA-INCHURA ROAD TOWARDS	HOOGHLY	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
186	INCHURA CONTAI TO KATHPUL BAZAAR ALONG DEPAL-MAJNA-KANTHI ROAD.	PURBA MEDINIPUR	RURAL	150	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
187	WITHIN 3 KMS FROM IOCL FUEL PUMP MAITY FUELS TOWARDS KULTIKRI ALONG GUPTAMONI -	JHARGRAM	RURAL	140	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
188	KULTIKRI ROAD. ON RAIPUR ROAD BETWEEN DULALPUR & SAJUA IN BISHNUPUR II BLOCK	SOUTH 24 PARGANAS	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots 0	2
189	WITHIN 3 KM FROM BM BIRLA COLLEGE OF NURSING ON THAKURPUKUR-RAYPUR ROAD	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
190	TOWARDS THAKURPUKUR BAKESHWAR ON NEPALGANGE-JULPIA ROAD	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
191	CHARISWAR, ON HATISHALA TO BHOJERHAT ROAD, BHANGAR-II BLOCK	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
192	HENRIA BUS STAND TO MADHAKHALI BUS STAND ON HERIA-MADHAKHALI ROAD.	PURBA MEDINIPUR	RURAL	220	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
193	FROM BADAR TO CHAKLA ON CHAKLA ROAD NOT ON NH/SH	NORTH 24 PARGANAS	RURAL	80	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
194	ON NOORPUR RD BETWEEN SARISHA ASHRAM MORE & RAICHAK MORE	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
195	WITHIN 2 KMS FROM JALCHAK POST OFFICE TOWARDS GARSAFAT.	PASCHIM MEDINIPUR	RURAL	180	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots 5	4
196	KOLAGHAT TO JASHAR ON KOLAGHAT-JASHAR ROAD.	PURBA MEDINIPUR	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
197	SIBDASPUR GRAM-PANCHAYAT ON ROAD CONNECTING NH-12 AND KALYANI EXPRESSWAY	NORTH 24 PARGANAS	RURAL	120	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
198	WITHIN 2KM OF JUNCTION OF JADAVBATI-FALTA ROAD AND JADAVBATI-BAKHRAHAT ROAD ON	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
199	BAKRAHAT ROAD ON USTHI ROAD BETWEEN SIRAKOLE BAZAR & USTHI POST OFFICE IN DIAMOND HARBOUR I	SOUTH 24 PARGANAS	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
200	BLOCK ON HATUGANGE-NETRA ROAD IN DIAMOND HARBOUR-I BLOCK, DIST. SOUTH 24 PARGANAS	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
201	ON BIJOYGANJ BAZAR-MANDIR BAZAR ROAD IN MANDIRBAZAR BLOCK, DIST. SOUTH 24	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
202	PARGANAS BETWEEN KEOTSHA BAZAR TO TETULIA BAZAR ON TETULIA ROAD	NORTH 24 PARGANAS	RURAL	80	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
203	WITHIN 12 KM FROM KAPSIT MORE ON BANDAR ROAD TOWARDS KAKNAN	HOOGHLY	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
204	ON GANGASAGAR-RUDRANAGAR-KACHUBERIA ROAD BETWEEN OMKARNATH ASHRAM & SAGAR	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
205	PS IN SAGAR BLOCK FROM SUBHASGRAM RAIL GATE TO CHAMPAHATI MORE ON SUBHASGRAM-CHAMPAHATI ROAD	SOUTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
206	MURARISAH CHAUMATHA TO NAZAT ON MURARISAH TO NAZAT ROAD	NORTH 24 PARGANAS	RURAL	100	ST	CFS	25	25	625	0	0	Draw of Lots 0	2
207	FROM SEAKHALA MORE TO FURFURA SHARIF ON BARGACHIA-SINGUR ROAD(NOT ON NH/SH)	HOOGHLY	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
208	CHONGDA MORE TO NAKPUL SHANI MANDIR	NORTH 24 PARGANAS	RURAL	130	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
209	KEOTSHA BAZAAR TO RAMCHANDRAPUR BAZAAR ON MASLANDAPUR TO TENTULIA ROAD	NORTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
210	FROM BHASTARA MORE TO BOINCHI CHOWMATHA CROSSING ON BOINCHI-DHANIKHALI	HOOGHLY	RURAL	75	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
211	ROAD(NOT ON NH/SH) WITHIN3 KM FROM SADHUR MORE ON KABIKANKAN ROAD TOWARDS KABLEY MORE (NOT ON	HOOGHLY	RURAL	150	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
212	NH/SH) WITHIN 4 KM FROM HALDIBARI TO JALPAIGURI ON HALDIBARI ROAD	COOCH BEHAR	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
213	BERACHAMPA CHAURASTA TO JIBANPUR ON BERACHAMPA TO PRITHIBA ROAD	NORTH 24 PARGANAS	RURAL	115	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
214	BETWEEN SIDDHESHWAR BRIDGE AND DHULAGARH CROSSING ON MUNSHIRHAT-SANKRAIL	HOWRAH	RURAL	120	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
215	ROAD BETWEEN BOINCHEE CHOWMATHA AND JAMNA BRIDGE ON BOINCHI-KALNA ROAD (NOT ON	HOOGHLY	RURAL	80	SC	CFS	25	25	625	0	0	Draw of Lots 0	2
216	NH/SH) NIMTALA BAZAR TO ICHHAPUR BAZAR ON BELIAGHATA TO ICHHAPUR ROAD	NORTH 24 PARGANAS	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
217	SOHAI BAZAR TO ICHAPUR CHOWMATHA ON BELIAGHATA-ICHAPUR ROAD NOT ON NH/SH	NORTH 24 PARGANAS	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
218	BETWEEN KHALNA MORE AND JOYPUR MORE ON JOYPUR ROAD	HOWRAH	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
219	WITHIN 4 KM FROM MAYAPUR MORE ON GARERGHAT-MAYAPUR ROAD TOWARDS KHANAKUL	HOOGHLY	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots 5	4
220	MUNDAMARI BAZAR TO PINGLA POLICE STATION ON MUNDUMARI-KALITALA ROAD.	PASCHIM MEDINIPUR	RURAL	110	ST	CFS	25	25	625	0	0	Draw of Lots 0	2
221	WITHIN 10 KM FROM JADURBERIA PANPUR MORE ON ULUBERIA-AMTA ROAD TOWARDS PANPUR	HOWRAH	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots 5	3
222	FROM VILLAGE DALAPATIPUR TO BARDA CHOUKAN ON GHATAL-ARAMBAGH ROAD.	PASCHIM MEDINIPUR	RURAL	110	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots 5	4
	1	İ	1	1			1	L		1		1	

223	BETWEEN KAMALPUR BUS STAND AND HOGLASI BUS STAND ON KAMALPUR-SRIKOL ROAD	HOWRAH	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
224	WITHIN 7 KM FROM JAGADISHPUR MORE ON DOMJUR-JAGADISHPUR ROAD TOWARDS DOMJUR	HOWRAH	RURAL	150	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
225	WITHIN 10 KM FROM UDAYNARAYANPUR MORE ON UDAYNARAYANPUR-AMTA ROAD TOWARDS	HOWRAH	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
226	AMTA WITHIN 3 KM FROM GARBAGAN MORE ON DOMJUR-ANDUL ROAD TOWARDS ANDUL	HOWRAH	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
227	WITHIN 5 KM FROM MANKUR MORE UNDER PASS TOWARDS BAINAN ON BAGNAN-BAINAN ROAD,	HOWRAH	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
228	DIST. HOWRAH TAMLUK TO NIMTOURI ON TAMLUK-SRIRAMPUR ROAD.	PURBA MEDINIPUR	RURAL	120	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
229	ICHHLAMPUR TO GOPALNAGAR KALIBARI ON GOPALNAGAR ROAD	NORTH 24 PARGANAS	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
230	KANSONA IN ULUBERIA-I BLOCK (NOT ON NH/SH)	HOWRAH	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
231	FROM NAIPUR SCHOOL BAZAAR TO DEHATI BRIDGE ON PATASHPUR-BALICHAK ROAD.	PURBA MEDINIPUR	RURAL	150	OPEN CC 2	DC	25	25	625	16	35	Draw of Lots	5	4
232	RAMNAGAR I TO KUDI BAZAR ON EGRA-RAMNAGAR ROAD.	PURBA MEDINIPUR	RURAL	260	OBC CC 1	DC	25	25	625	16	35	Draw of Lots	5	3
233	FROM MAHESWARPUR BRIDGE TO HARIT BUS STAND ON CHUNCHURA-DHANIKHALI ROAD (NOT ON NH/SH)	HOOGHLY	RURAL	100	SC CC 1	CFS	25	25	625	0	0	Draw of Lots	0	2
234	KUARGAON , ON BHADRAKALI TO KAMLAGAON ROAD.	UTTAR DINAJPUR	RURAL	84	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
235	WITHIN 5 KM FROM GOBINDAPUR MORE, BALURGHAT TOWARDS TAPAN.	DAKSHIN DINAJPUR	RURAL	87	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
236	GUMA CHOWMATHA TO PATHARGHATA	NORTH 24 PARGANAS	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
237	TENGUA BUS STAND TOWARDS NANDIGRAM POLICE STATION ON CHANDIPUR-NANDIGRAM ROAD.	PURBA MEDINIPUR	RURAL	110	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
238	IN BETWEEN KAMALPUR TO TRIMOHINI TRIANGLE MORE ON PATIRAM - HILLI HIGHWAY	DAKSHIN DINAJPUR	RURAL	195	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
239	WITHIN 6 KM RADIUS OF APPS SCHOOL, SHIVMANDIR NOT ON NH OR SH	DARJEELING	RURAL	130	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
240	WITHIN 5 KM FROM KAPSIT MORE ON BANDAR ROAD TOWARDS ARAMBAGH	HOOGHLY	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
241	DUDHANDA TO HALDIBARI ON STATE HIGHWAY	UTTAR DINAJPUR	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
242	IN BETWEEN KRISHNAGANJ TO SHAMBHUNAGAR VIA MALATIPUR ON LEFT HAND SIDE TOWARDS GAZOLE ON NH 31.	MALDA	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
243	WITHIN 3 KM FROM GUPTOMONI MANDIR TO LODHASULI ON NH-49 ON THE LHS.	JHARGRAM	REGULAR	545	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
244	FROM LODHASULI BUS STAND TO SALBONI PRIMARY SCHOOL GROUND ON SH-5.	JHARGRAM	REGULAR	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
245	LHS FROM LODHASULI TO SARDIHA ON NH-49.	JHARGRAM	REGULAR	550	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
246	RHS FROM LOADHASULI TO SARDIHA ON NH 49.	JHARGRAM	REGULAR	540	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
247	BETWEEN KACHUJORE TO DUBRAJPUR POWER HOUSE ON NH - 60 (NEW NH NO - 14)	BIRBHUM	REGULAR	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
248	BETWEEN BETAI TO MAHISHBATHAN ON KRISHNANAGAR-KARIMPUR ROAD	NADIA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
249	NAGADI BAZAR TO DEBAGRAM ON RHS ON NH-12 WHILE GOING FROM BETHUADAHARI TO DEBAGRAM	NADIA	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
250	BETWEEN URMA TO BALRAMPUR ON NH 18/32	PURULIA	REGULAR	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
251	SILIGURI CITY 1 WITHIN MUNICIPAL LIMIT, DISTRICT- DARJEELING	DARJEELING	REGULAR	270	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
252	WITHIN 5 KMS FROM KHANNA HOTEL ON NH 27 ON LHS FROM SILIGURI TOWARDS DALKHOLA	DARJEELING	REGULAR	190	OBC	СС	35	35	1225	32	12	Bidding	30	4
253	FROM TEKATULI TO JHAJANGI ON LHS WHILE MOVING TOWARDS JHAJANGI ON NH	JALPAIGURI	REGULAR	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
254	WITHIN 4 KM FROM PANITANKI TRAFFIC MORE TOWARDS KHORIBARI ON PANITANKI KHORIBARI NH	DARJEELING	REGULAR	230	OPEN	cc	35	35	1225	32	12	Bidding	30	5
255	WITHIN 2 KMS FROM HANSQUA MASJID ON NH 27 ON LHS FROM GHOSHPUKUR TOWARDS SILIGURI	DARJEELING	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
256	IN BETWEEN ITAHAR TO KURMANPUR LEFT HAND SIDE TOWARDS MALDA ON NH 12.	UTTAR DINAJPUR	REGULAR	195	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
257	BETWEEN TULSIDEBI HIGH SCHOOL AND MAJHIRBARI BUS STAND ON SH	COOCH BEHAR	REGULAR	230	SC	CFS	35	35	1225	0	0	Draw of Lots		3
258	BETWEEN BHALUKGARA MORE AND WEST BENGAL BIHAR BORDER ON NH	DARJEELING	REGULAR	230	OPEN	DC	35	35	1225	32	95	Draw of Lots		5
259	BETWEEN MIRIK AND PASHUPATI FATAK ON SH	DARJEELING	REGULAR	115	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
260	IN BETWEEN BIHINAGAR TO SALAMPUR ON LHS TOWARDS DALKHOLA ON NH12.	UTTAR DINAJPUR	REGULAR	195	OBC	DC	35	35	1225	32	95		15	4
261	WITHIN 1 KM FROM DUDHIA BRIDGE ON SILIGURI MIRIK ROAD SH	DARJEELING	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of Lots		5
262	DALAPCHAND HIGH SCHOOL TO GORUBATHAN ON SH	KALIMPONG	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

263	IN BETWEEN SOVA RANI D.ED. COLLEGE TO PAKUAHAT BUS STAND ON HABIBPUR TO PAKUAHAT	MALDA	REGULAR	135	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
264	ROAD. SALSALABARI TO GUABARI TOLL PLAZA ON LHS WHILE MOVING TOWARDS BAROBISHA (ON NH)	ALIPURDUAR	REGULAR	190	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots		5
265	IN BETWEEN SONAPUR TO RAMGANJ ON NH 27.	UTTAR DINAJPUR	REGULAR	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
266	WITHIN 2 KMS FROM BOGERDANGHA PRIMARY SCHOOL, JAMALDAH TOWARDS MATHABHANGA ON	COOCH BEHAR	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
267	SH WITHIN 3KMS FROM ROYPARA BUS STOP TO SUTKABARI BAZAR ON SH	COOCH BEHAR	REGULAR	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
268	IN BETWEEN ILLUBARI- BENGALI DHABA TO PANJIPARA ON LEFT HAND SIDE TOWARDS	UTTAR DINAJPUR	REGULAR	164	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
269	DALKHOLA ON NH 27 IN BETWEEN PATNOUR TO PANDEPUR ON LEFT HAND SIDE TOWARDS RAIGANJ ON NH12.	UTTAR DINAJPUR	REGULAR	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
270	FROM MOULANI TO BOULBARI ON NH	JALPAIGURI	REGULAR	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
271	BINNAGURI TO BANARHAT ON NH	JALPAIGURI	REGULAR	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
272	IN BETWEEN ITAHAR BUS STAND TO DURGAPUR BUS STAND LHS TOWARDS RAIGANJ ON NH 12.	UTTAR DINAJPUR	REGULAR	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
273	WITHIN 10 KMS FROM DELO PARK, KALIMPONG ON BHALU MARG ROAD	KALIMPONG	REGULAR	100	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
274	WITHIN OLD MALDA MUNCIPILITY	MALDA	REGULAR	128	OBC CC 1	сс	20	20	400	32	12	Bidding	30	4
275	ON NH 717A WITHIN KALIMPONG DISTRICT	KALIMPONG	REGULAR	155	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
276	ON RAIGANJ BYPASS ON NH12.	UTTAR DINAJPUR	REGULAR	171	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
277	IN BETWEEN GAZOLE TO MAYNA - BAIDARA CHECK POST ON NH12.	MALDA	REGULAR	199	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
278	IN BETWEEN BSF CAMP NARAYANPUR TO ALAMPUR BUS STAND ON LHS TOWARDS GAZOLE ON NH 12	MALDA	REGULAR	185	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
279	FROM THAKURPAT TO GAIRKATA ON NH	JALPAIGURI	REGULAR	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
280	BETWEEN JHAJANGI TO TEKATULI ON LHS WHILE MOVING TOWARDS TEKATULI ON NH	JALPAIGURI	REGULAR	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
281	BETWEEN NOUKAGHAT TO FULBARI ON LHS WHILE MOVING TOWARDS FULBARI	JALPAIGURI	REGULAR	290	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
282	IN BETWEEN KALIACHAK TO FARAKKA BARRAGE ON NH12.	MALDA	REGULAR	195	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
283	BETWEEN DOSHDARGA & FATAPUKUR ON LHS WHILE MOVING TOWARDS FATAPUKUR(ON NH)	JALPAIGURI	REGULAR	330	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
284	FROM KHAPRAIL MORE TO GARIDHURA BAZAR ON SH	DARJEELING	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
285	WITHIN 5 KM FROM GHUGUMARI JUNCTION TO MATHABHANGA ON SH	COOCH BEHAR	REGULAR	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
286	IN BETWEEN BSF NARAYANPUR CAMP TO SUJAPUR VIA MALDA BYPASS ON LHS TOWARDS KALIACHAK ON NH 12.	MALDA	REGULAR	195	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
287	FROM FULBARI BARRAGE BRIDGE TO GHOSPUKUR ON FULBARI GHOSHPUKUR BYPASS ROAD NH	DARJEELING	REGULAR	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
288	BETWEEN HOTEL LITTLE PARADISE AND DAMBRA CHOWK, KALIMPONG ON SH	KALIMPONG	REGULAR	195	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
289	IN BETWEEN FULBARI TO PATIRAM ON NH 512	DAKSHIN DINAJPUR	REGULAR	197	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
290	FROM SONAPUR CHOWPATHY TO BIRPARA CHOWPATTY ON LHS WHILE MOVING TOWARDS BIRPARA CHOWPATTY ON NH	ALIPURDUAR	REGULAR	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
291	BETWEEN KHAPRAIL MORE AND PWD MORE ON NH	DARJEELING	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
292	IN BETWEEN BALIA PARA TO BAIDARA CHECKPOST LHS TOWARDS GAZOLE ON NH 12.	UTTAR DINAJPUR	REGULAR	166	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
293	GHARGHARIA HAT TO KHOLTA CHECK POST ON MARICHABARI ROAD	COOCH BEHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
294	WITHIN 5KMS FROM DUDUA BRIDGE APPROACH TOWARDS FALAKATA ON NH	ALIPURDUAR	REGULAR	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
295	BIRPARA TO DALIMPUR ON NH	ALIPURDUAR	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
296	SILIGURI CITY 2 WITHIN MUNICIPAL LIMIT, DISTRICT- DARJEELING	DARJEELING	REGULAR	240	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
297	BETWEEN TISTA BAZAR AND HOTEL LITTLE PARADISE ON KALIMPONG TEEST ROAD SH	KALIMPONG	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
298	FROM MATHABHANGA BDO OFFICE TO MATHABHANGA COLLEGE MORE ON SH	COOCH BEHAR	REGULAR	120	OPEN	СС	35	35	1225	32	12	Bidding	30	5
299	WITHIN 5KMS FROM ASIGHAR MORE ON EASTERN BYPASS	JALPAIGURI	REGULAR	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
300	WITHIN BALURGHAT MUNICIPAL LIMITS.	DAKSHIN DINAJPUR	REGULAR	110	OBC PH	сс	20	20	400	32	12	Bidding	30	4
301	FROM BHALUKGARA MORE TO GHOSHPUKUR ON NH	DARJEELING	REGULAR	155	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
302	FALAKATA TO SONAPUR ON NH	ALIPURDUAR	REGULAR	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

303	WITHIN 4KMS FROM MADARIHAT TRAFFIC MORE TO HOLONG ON RHS ON NH	ALIPURDUAR	REGULAR	230	OPEN	CC	35	35	1225	32	12	Bidding	30	5
304	IN BETWEEN SAMSI TO GAZOLE ON NH31	MALDA	REGULAR	173	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
305	DHUPGURI TO BHEMTIA ON LHS WHILE MOVING TOWARDS BHEMTIA ON NH	JALPAIGURI	REGULAR	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
306	WITHIN 3 KMS FROM HOTEL P-99 TOWARDS KHARAGPUR ON LHS ON NH-16.	PASCHIM MEDINIPUR	REGULAR	435	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
307	ON LHS ON AJC BOSE ROAD FROM SEALDAH RAILWAY JUNCTION TO MULLICK BAZAR / PARK	KOLKATA	REGULAR	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
308	STREET CROSSINGS WITHIN 2 KMS FROM KESHIARY BUS STAND TO BELDA ON STATE HIGHWAY-5.	PASCHIM MEDINIPUR	REGULAR	210	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
309	HALDIA CITY CENTRE TO NANDAKUMAR ON LHS BETWEEN STONE NO 38 TO 42 ON NH 116.	PURBA MEDINIPUR	REGULAR	440	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
310	BETWEEN SINGUR AND BAGBARI ON SH2 ON EITHER SIDE	HOOGHLY	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
311	BETWEEN GOBRU TO GODAPIYASAL ON NH-14.	PASCHIM MEDINIPUR	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
312	LHS FROM LODHASULI TO KHARAGPUR BETWEEN KM STONE NO. 173 TO 176 ON NH-49	JHARGRAM	REGULAR	540	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
313	FROM HASTINGS TO BARA BAZAR ON STRAND ROAD	KOLKATA	REGULAR	200	OPEN CC 1	СС	20	20	400	32	12	Bidding	30	5
314	KARANICHOTI TO BHADUTOLA ON NH-14.	PASCHIM MEDINIPUR	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
315	WITHIN 4 KMS FROM HOTEL P-99 TOWARDS ODISHA ON RHS ON NH-16.	PASCHIM MEDINIPUR	REGULAR	435	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
316	KHARIKA BAKUL TOLA TO BHANSRA ON SH-9.	JHARGRAM	REGULAR	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
317	LHS ON NH-49 FROM KHARAGPUR TO SARDIHA BETWEEN KM STONE 178 AND 182.	JHARGRAM	REGULAR	550	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
318	ON LHS WHILE GOING FROM KAMALGAZI MORE TO BARUIPUR	SOUTH 24 PARGANAS	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
319	FROM SUTAHATA LABANYA PRABHA BALIKA VIDYALAYA TO CHAITANYAPUR BUS STOP ON SH-4.	PURBA MEDINIPUR	REGULAR	190	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
320	LHS ON NH-49 FROM LODHASULI TO KHARAGPUR BETWEEN KM STONE NO. 156 AND 158.	JHARGRAM	REGULAR	540	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
321	FROM GHATAL POLICE STATION TO BARDA CHOWKAN ON NH-116A ERSTWHILE SH-4.	PASCHIM MEDINIPUR	REGULAR	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
322	LIC MORE TO KERANICHOTI IN MEDINIPUR TOWN	PASCHIM MEDINIPUR	REGULAR	170	OPEN	cc	20	20	400	32	12	Bidding	30	5
323	BETWEEN BAIDYABATI MORE AND JYOTI MORE JUNCTION ON EITHER SIDE ON SH06	HOOGHLY	REGULAR	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
324	HAROA PG SCHOOL TO MADARTALA ON SH 3	NORTH 24 PARGANAS	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
325	ON LHS ON BT ROAD FROM SHYAMBAZAR 5 POINTS CROSSINGS TO SINTHEE MORE WITHIN KMC LIMIT	KOLKATA	REGULAR	240	OPEN PH	DC	20	20	400	32	75	Draw of Lots	15	5
326	BAGJOLA BAZAR TO ANDHARMANIK PLAYGROUND ON SH 3	NORTH 24 PARGANAS	REGULAR	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
327	LHS ON NH 16 FROM SONAKANIA TO ANGUA BETWEEN STONE NO. 57 TO 62	PASCHIM MEDINIPUR	REGULAR	735	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
328	MALANCHA BRIDGE TO MURARISAH CHOWMATA ON SH2	NORTH 24 PARGANAS	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
329	LHS ON NH 16 FROM BELDA TO KHARAGPUR ON STONE NO 91 TO 94.	PASCHIM MEDINIPUR	REGULAR	540	OPEN	CC	35	35	1225	32	12	Bidding	30	5
330	WITHIN GOBARDANGA MUNICIPALITY NOT ON NH/SH	NORTH 24 PARGANAS	REGULAR	100	OBC	CC	20	20	400	32	12	Bidding	30	4
331	LHS ON NH-16 FROM ODISHA TO KHARAGPUR BETWEEN STONE NO. 53 AND 57.	PASCHIM MEDINIPUR	REGULAR	635	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
332	WITHIN 2 KM RADIUS FROM GURDWARA NIMPURA NIRMAL KUTIA ON GURUDWARA ROAD.	PASCHIM MEDINIPUR	REGULAR	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
333	BETWEEN KHANYAN CHOWMATHA AND MOGRA BRIDGE ON SH13, LHS TOWARDS DANKUNI	HOOGHLY	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
334	BETWEEN SHITALPUR AND GADIARA ON SH15 DIST HOWRAH	HOWRAH	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
335	LHS ON NH-16 FROM ODISHA TO KHARAGPUR BETWEEN KM STONE NO. 109 AND 111.	PASCHIM MEDINIPUR	REGULAR	435	OPEN	cc	35	35	1225	32	12	Bidding	30	5
336	FROM SBI BAKKHALI TO BAKKHALI BUS STAND ON NH-12	SOUTH 24 PARGANAS	REGULAR	150		DC	35	35	1225	32	95	Draw of Lots	15	5
337	FROM GHATAL POLICE STATION TO DASPUR ON NH-116A ERSTWHILE SH-4.	PASCHIM MEDINIPUR	REGULAR	175	SC	CFS	35	35	1225	0	0	Draw of Lots		3
338	WITHIN 4 KMS FROM SAURI BUS STAND TOWARDS KASNMALI ON SH-5.	PASCHIM MEDINIPUR	REGULAR	160		DC	35	35	1225	32	75	Draw of Lots		4
339	WITHIN 2 KMS FROM POKTAPUL BRIDGE TOWARDS KHARAGPUR ON THE RHS ON NH-16.	PASCHIM MEDINIPUR	REGULAR	340	OPEN	cc	35	35	1225	32	12	Bidding	30	5
340	LHS FROM KOLAGHAT TO DEBRA ON NH-16 BETWEEN STONE NO. 98 TO 102.	PASCHIM MEDINIPUR	REGULAR	535		cc	35	35	1225	32	12		30	5
341	WITHIN 5 KMS RADIUS FROM BIG-BAZAAR KHARAGPUR ON SH-5.	PASCHIM MEDINIPUR	REGULAR	210		DC	35	35	1225	32	75	Draw of Lots		4
342	WITHIN CHANDRAKONA TOWN MUNICIPALITY.	PASCHIM MEDINIPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

343	LHS FROM KOLAGHAT TO DEBRA ON NH-16 BETWEEN STONE NO. 103 TO 106.	PASCHIM MEDINIPUR	REGULAR	535	OPEN	cc	35	35	1225	32	12	Bidding	30	5
344	RHS FROM KHARAGPUR TO BELDA ON NH-16, BETWEEN STONE NO 94 AND 96.	PASCHIM MEDINIPUR	REGULAR	540	OPEN	cc	35	35	1225	32	12	Bidding	30	5
345	FROM GOURPAHARI BUS STAND TO BALIGHAI FAKIR DAS HIGH SCHOOL ON STATE HIGHWAY 5.	PURBA MEDINIPUR	REGULAR	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
346	FROM DUNLOP CHOWK TO KHARDAHA ON LHS	NORTH 24 PARGANAS	REGULAR	350		CFS	20	20	400	0	0	Draw of Lots		3
347	FROM SALBONI RELIANCE FUEL PUMP TO KUBAI ROAD BRIDGE ON NH-14.	PASCHIM MEDINIPUR	REGULAR	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
348	LHS ON NH 16 FROM SONAKANIA TO KHARAGPUR BETWEEN STONE NO. 48 TO 53.	PASCHIM MEDINIPUR	REGULAR	940	OPEN	DC	35	35	1225	32	95	Draw of Lots		5
349	WITHIN 2 KMS FROM SBI THAKURCHAK TOWARDS KHAKURDA ON SH-5.	PASCHIM MEDINIPUR	REGULAR	160	OBC	DC	35	35	1225	32	75	Draw of Lots		4
350	BETWEEN SALKIA CHOWRASTA AND BELUR BAZAR MORE ON GT ROAD	HOWRAH	REGULAR	180	sc	CFS	20	20	400	0	0	Draw of Lots		3
351	LHS ON NH-16 FROM KHARAGPUR TO DEBRA BETWEEN KM STONE NO. 119 TO 117.	PASCHIM MEDINIPUR	REGULAR	490	OPEN	DC	35	35	1225	32	95	Draw of Lots		5
352	RAJPUR SONARPUR WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	SOUTH 24 PARGANAS	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
353	FROM HANUMAN MANDIR TO HALDIA IOC 1.NO GATE ON VIP ROAD	PURBA MEDINIPUR	REGULAR	325	OPEN	DC	20	20	400	32	55	Draw of Lots		5
354	BETWEEN DIGHA BISWA BANGLA GATE AND WEST BENGAL-ODISHA BORDER ON NH-116B.	PURBA MEDINIPUR	REGULAR	400	OPEN	DC	35	35	1225	32	95	Draw of Lots		5
355	BETWEEN BAJKUL BUS STAND AND NACHINDA MANDIR ON NH-116B.	PURBA MEDINIPUR	REGULAR	400	SC	CFS	35	35	1225	32	0	Draw of Lots		,
	FROM KMST-103 TO NAMKHANA BRIDGE ON NH-12					DC	35		1225	32	Ü			3
356		SOUTH 24 PARGANAS	REGULAR	150	OBC			35			95	Draw of Lots		4
357	WITHIN 4 KM FROM PANCHLA BUS STOP ON NH-16, LHS TOWARDS BAGNAN	HOWRAH	REGULAR	440	OPEN	DC	35	35	1225	32	95	Draw of Lots		5
358	WITHIN 2 KMS FROM CITY CENTRE MORE TOWARDS MANJUSHREE BAZAR ON HPL LINK ROAD ON THE RHS.	PURBA MEDINIPUR	REGULAR	340	OPEN	СС	20	20	400	32	12	Bidding	30	5
359	HALDIA CITY CENTRE TO BRAJALALCHAK ON LHS BETWEEN STONE NO 51 TO 44 ON NH 116.	PURBA MEDINIPUR	REGULAR	450	SC	CFS	35	35	1225	0	0	Draw of Lots		3
360	WITHIN 5 KM FROM CROSSING OF BARUIPUR-AMTALA ROAD AND SH1 ON SH1 TOWARDS RAJPUR SONARPUR	SOUTH 24 PARGANAS	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots		4
361	RHS ON HPL LINK ROAD BETWEEN ASTHA FILLING STATION (IOCL) AND HPL (TRUCK ENTRY GATE).	PURBA MEDINIPUR	REGULAR	340	OPEN	CC	20	20	400	32	12	Bidding	30	5
362	ON MG ROAD BETWEEN JOKA METRO STATION AND KARUNAMOYEE BRIDGE (WITHIN KMC LIMIT)	SOUTH 24 PARGANAS	REGULAR	220	OPEN CC 1	СС	20	20	400	32	12	Bidding	30	5
363	FROM UNITECH MORE TO SHAPOORJI NBCC MORE ON EITHER SIDE WITHIN NORTH 24 PARGANAS DISTRICT	NORTH 24 PARGANAS	REGULAR	350	OBC	СС	20	20	400	32	12	Bidding	30	4
364	BETWEEN NANDAKUMAR DIGHA BUS STOP TO NARGHAT BRIDGE ON NH-116B.	PURBA MEDINIPUR	REGULAR	400	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
365	WITHIN 2 KMS FROM MITSUSBISHI CHEMICALS CORPORATION HALDIA TOWARDS BRINDABANCHAK SUNRISE POINT.	PURBA MEDINIPUR	REGULAR	250	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
366	RHS FROM MECHEDA TO NANDKUMAR ON NH-116 BETWEEN STONE NO. 4 TO 8.	PURBA MEDINIPUR	REGULAR	540	OPEN	СС	35	35	1225	32	12	Bidding	30	5
367	WITHIN 8 KM FROM HOTEL NABANNA IN SINGUR ON NH19 LHS TOWARDS BURDHAMAN	HOOGHLY	REGULAR	230	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
368	BETWEEN LAL PUL AND 10TH MILE BRIDGE ON NH-12	SOUTH 24 PARGANAS	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
369	FROM PUYADA BUS STAND TO TALPUKUR RAIL CROSSING TOWARDS TAMLUK ON SH-4.	PURBA MEDINIPUR	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
370	FROM MECHOGRAM BUS STOP TO KESHAPAT BUS STOP ON NH-116A (ERSTWHILE SH-4).	PURBA MEDINIPUR	REGULAR	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
371	FROM JUNCTION OF NH-19 AND SH-13 TO DANKUNI TOLL PLAZA, ON NH-19 LHS TOWARDS	HOOGHLY	REGULAR	330	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
372	BURDHAMAN WITHIN 2KM RADIUS OF ARUNNAGAR ON NH-12, BLOCK-KULPI	SOUTH 24 PARGANAS	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
373	NACHINDA MANDIR TO MECHEDA BYPASS BUS STOP ON NH 116B.	PURBA MEDINIPUR	REGULAR	400	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
374	WITHIN 5 KM FROM INDILICOUS RESTAURANT ON NH-16, LHS TOWARDS ULUBERIA	HOWRAH	REGULAR	300	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
375	BANDEL MORE TO NANDIPUKUR MORE ON SH06	HOOGHLY	REGULAR	110	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
376	ON LHS ON EM BYEPASS FROM RUBY HOSPITAL CROSSINGS TO PATULI CROSSINGS	SOUTH 24 PARGANAS	REGULAR	400	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
377	5KM FROM DANKUNI TOLL PLAZA ON NH-19 LHS TOWARDS KOLKATA	HOOGHLY	REGULAR	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
378	WITHIN 7 KM FROM JUNCTION OF MOGRA-GURAP ROAD AND NH19 ON NH19, LHS TOWARDS	HOOGHLY	REGULAR	250	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
379	DANKUNI ON LHS FROM NEW GARIA METRO STATION TO KALIKAPUR MORE CROSSING	SOUTH 24 PARGANAS	REGULAR	550	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
380		SOUTH 24 PARGANAS	REGULAR	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
381	LIMITI WITHIN 5 KM FROM NETAJI MORE ON SH13 RHS TOWARDS DANKUNI	HOOGHLY	REGULAR	230	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
382	WITHIN 5KM FROM DHULAGARH TOLL PLAZA ON NH16, LHS TOWARDS BAGNAN	HOWRAH	REGULAR	340	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

383	FROM DOSTIPUR BAZAR TO SARISHA ASHRAM MORE ON NH-12, DIST. SOUTH 24 PARGANAS	SOUTH 24 PARGANAS	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
384	FROM BATA MORE (ON BUDGE BUDGE ROAD) TO BATA INDIA LTD COMPANY, DIST SOUTH 24	SOUTH 24 PARGANAS	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
385	PARGANAS WITHIN 7 KM FROM MAHESHWARPUR BRIDGE ON NH19 LHS TOWARDS DANKUNI	HOOGHLY	REGULAR	230	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
386	BETWEEN MOGRA FLYOVER AND SUGANDHA MORE ON SH13, LHS TOWARDS DANKUNI	HOOGHLY	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	D	3
387	ON LHS WHILE GOING FROM BARUIPUR TO KAMALGAZI MORE	SOUTH 24 PARGANAS	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
388	ON DR. BHOLANATH CHAKRABORTY SARANI BETWEEN BELEPOLE AND SANPUR MORE ON EITHER SIDE	HOWRAH	REGULAR	150	OPEN CC 1	сс	20	20	400	32	12	Bidding	30	5
389	SIDE WITHIN 7 KM FROM SINGUR BRIDGE ON NH19 LHS TOWARDS DANKUNI	HOOGHLY	REGULAR	230	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
390	BETWEEN KUNTI BRIDGE AND KHAMARGACHI BUS STOP ON SH6	HOOGHLY	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots	D	3
391	WITHIN 5KMS FROM HATUGANJE MORE ON NH12 TOWARDS KULPI	SOUTH 24 PARGANAS	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
392	BETWEEN BARANAGAR METRO STATION TO AIRPORT CITY HOTEL ON BELGHORIA EXPRESSWAY ON LHS	NORTH 24 PARGANAS	REGULAR	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
393	FROM MOGRA MORE TO KUNTI BRIDGE ON SH6 ON EITHER SIDE	HOOGHLY	REGULAR	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
394	AMDANGA TO AWALSIDDHI CHOWK ON LHS ON NH-12	NORTH 24 PARGANAS	REGULAR	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
395	WITHIN 4 KM FROM JAMBERIA BRIDGE ON NH-16, LHS TOWARDS DHULAGARH	HOWRAH	REGULAR	250	SC	CFS	35	35	1225	0	0	Draw of Lots	D	3
396	WITHIN 4 KMS FROM PANSKURA AGRICULTURAL RESEARCH CENTER TOWARDS SURARPUL BUS STOP ON SH-4.	PURBA MEDINIPUR	REGULAR	190	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
397	BETWEEN JOYKRISHNA BAZAR MORE TO LOKNATH MORE ON SH2 ON RHS	HOOGHLY	REGULAR	145	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
398	BONGAON 1NO. RAIL GATE TO KALUPUR BAZAAR ON NH-112	NORTH 24 PARGANAS	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
399	BETWEEN KALIPUR MORE (DANKUNI) AND KALACHARA PRIMARY SCHOOL ON SH15 EITHER SIDE	HOOGHLY	REGULAR	250	ST PH	CFS	35	35	1225	0	0	Draw of Lots	D	3
400	FROM SATMILE BAZAAR TO BENAMURI ON STATE HIGHWAY 5 (CONTAI EGRA ROAD).	PURBA MEDINIPUR	REGULAR	170	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
401	DOPERE CHAURASTA TO BOROBAGAN ON KALYANI EXPRESSWAY ON RHS	NORTH 24 PARGANAS	REGULAR	235	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
402	MATIA BAZAR TO GOPALPUR MORE ON TAKI ROAD (SH-2)	NORTH 24 PARGANAS	REGULAR	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
403	WITHIN 5 KM FROM KOLAGHAT BRIDGE ON NH-16 RHS TOWARDS ULUBERIA	HOWRAH	REGULAR	440	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
404	WITHIN 5 KM FROM DHULAGARH CROSSING ON NH-16 LHS TOWARDS SALAP	HOWRAH	REGULAR	450	SC	CFS	35	35	1225	0	0	Draw of Lots	D	3
405	BETWEEN KM STONE NO.17 AND 22 ON NH112	NORTH 24 PARGANAS	REGULAR	200	OPEN	СС	35	35	1225	32	12	Bidding	30	5
406	BETWEEN MURAGACHA CHOWK TO MADHYAMGRAM CHOWMATHA ON SODEPUR-MADHYAMGRAM ROAD	NORTH 24 PARGANAS	REGULAR	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
407	WITHIN 5 KM FROM SALAP MORE ON NH-16, LHS TOWARDS DANKUNI	HOWRAH	REGULAR	450	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
408	WITHIN 5 KM FROM MAHISREKHA BRIDGE ON NH-16 LHS TOWARDS PANCHLA	HOWRAH	REGULAR	250	SC	CFS	35	35	1225	0	0	Draw of Lots	D	3
409	BETWEEN BERACHAMPA CHOWMATHA AND KACHUA ROAD MORE ON SH02	NORTH 24 PARGANAS	REGULAR	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
410	WITHIN 8KM FROM DANKUNI TOLL PLAZA ON NH-19 LHS TOWARDS BURDHAMAN	HOOGHLY	REGULAR	550	OPEN	сс	35	35	1225	32	12	Bidding	30	5
411	BETWEEN MILESTONE NO. 626 TO 623 ON NH19 LHS TOWARDS DURGAPUR	HOOGHLY	REGULAR	330	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
412	BETWEEN COLLEGE MORE CHOWRASTA AND PEROR MORE ON SH15	HOWRAH	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
413	ON CANAL WEST ROAD FROM DESHBANDHU PARK NEAR SHYAMBAZAR TO BELEGHATA KHALPOOL	KOLKATA	REGULAR	300	SC	CFS	20	20	400	0	0	Draw of Lots)	3
414	FROM KHARDAHA TO TITAGARH ON EITHER SIDE	NORTH 24 PARGANAS	REGULAR	350	OPEN CC 1	СС	20	20	400	32	12	Bidding	30	5
415	BETWEEN PHOOLBAGAN METRO STATION AND BELIAGHATA HEAD POST OFFICE ON HEM CHANDRA NASKAR RD	KOLKATA	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
416	WITHIN 5 KM FROM HIGHWAY MIRCHI HOTEL ON NH19 LHS TOWARDS BURDHAMAN	HOOGHLY	REGULAR	310	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
417	BETWEEN BAGHBAZAR AND BARANAGAR BAZAR ON BAGHBAZAR-COSSIPORE-BARANAGAR ROAD	KOLKATA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots)	3
418	WITHIN A MIC LIMIT! WITHIN 2 KM FROM HIMADRI SPECIALITY CHEMICALS LIMITED ON NH19 LHS TOWARDS DANKUNI	HOOGHLY	REGULAR	330	OPEN	сс	35	35	1225	32	12	Bidding	30	5
419	ON NSC BOSE ROAD BETWEEN TOLLYGUNGE METRO AND GARIA	SOUTH 24 PARGANAS	REGULAR	300	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
420	ON SH13, BETWEEN MILESTONE NO. 27 AND 24 LHS TOWARDS DANKUNI	HOOGHLY	REGULAR	300	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
421	BETWEEN MILESTONE NO. 3 AND 6 ON SH-13 LHS TOWARDS BURDHAMAN	HOOGHLY	REGULAR	230	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
422	BETWEEN KHARDAHA TO MURAGACHHA ON SODEPUR ROAD WITHIN MUNICIPALITY	NORTH 24 PARGANAS	REGULAR	250	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	D	3
	<u> </u>													

423	BETWEEN CHAMPADANGA AND GAJAR MORE ON SH15, LHS TOWARDS DANKUNI	HOOGHLY		100		DC	35	35	1225	32	75	Draw of Lots 1	15	4
424	BETWEEN MILESTONE NO. 1 AND 6 ON SH13 LHS TOWARDS DANKUNI	HOOGHLY	REGULAR	230	OPEN	DC	35	35	1225	32	75	Draw of Lots 1	15	5
425	FROM TENTULIA BAZAAR TO ICHAMATI BRIDGE ON NH312	NORTH 24 PARGANAS	REGULAR	160	OPEN PH	сс	35	35	1225	32	12	Bidding 3	30	5
426	ON LHS ON EM BYEPASS FROM RUBY HOSPITAL CROSSINGS TO SCIENCE CITY CROSSING	KOLKATA	REGULAR	400	SC	CFS	20	20	400	0	0	Draw of Lots 0)	3
427	FROM TOPSIA MORE TO EM BYEPASS CROSSING ON DR B N DEY ROAD (WITHIN KMC LIMIT)	KOLKATA	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of Lots 1	15	4
428	WITHIN 2KM FROM SWETPUR MORE TOWARDS MOGRA ON SH13 ON RHS	HOOGHLY	REGULAR	175	OPEN	DC	35	35	1225	32	75	Draw of Lots 1	15	5
429	ON CANAL EAST ROAD FROM DESHBANDHU PARK NEAR SHYAMBAZAR TO BELEGHATA KHALPOOL	KOLKATA	REGULAR	300	OBC	DC	20	20	400	32	75	Draw of Lots 1	15	4
430	BARUIPUR WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	SOUTH 24 PARGANAS	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots 0)	3
431	WITHIN 2 KM FROM NOAPARA MORE ON SH13 RHS TOWARDS DANKUNI	HOOGHLY	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of Lots 1	15	5
432	BETWEEN MILESTONE NO. 15 AND 18 ON SH13 LHS TOWARDS BURDHAMAN	HOOGHLY	REGULAR	250	OPEN	DC	35	35	1225	32	75	Draw of Lots 1	15	5
433	BETWEEN BHADUR MORE AND MODINA ON SH2 ON LHS	HOOGHLY	REGULAR	130	OPEN	DC	35	35	1225	32	75	Draw of Lots 1	15	5
434	ON JADAVPUR MAIN ROAD - RAJA SUBODH MULLICK RD BETWEEN JADAVPUR POLICE STATION AND GARIA	SOUTH 24 PARGANAS	REGULAR	400	OBC	DC	20	20	400	32	75	Draw of Lots 1	15	4
435	FROM DHADIKA DURGA TEMPLE TO GARBETA CENTRAL BUS STAND ON NH-14.	PASCHIM MEDINIPUR	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots 0)	3
436	BETWEEN SEAKHALA CHOWMATHA AND MOSAT BUS STAND ON SH15, LHS TOWARDS DANKUNI	HOOGHLY	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding 3	30	5
437	JAYNAGAR MAZILPUR WITHIN MUNCIPAL LIMIT (NOT ON NH/SH)	SOUTH 24 PARGANAS	REGULAR	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots 1	15	5
438	WITHIN BUDGE BUDGE MUNICIPAL LIMIT (NOT ON NH/SH)	SOUTH 24 PARGANAS	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots 1	15	4
439	ON NH 16, LHS FROM RATULIA TO DEBRA TOLL PLAZA.	PASCHIM MEDINIPUR	REGULAR	535	SC	CFS	35	35	1225	0	0	Draw of Lots 0)	3
440	WITHIN 4 KM FROM MAHISHREKHA BRIDGE ON NH16 LHS TOWARDS BAGNAN, DIST. HOWRAH	HOWRAH	REGULAR	550	OPEN	DC	35	35	1225	32	95	Draw of Lots 1	15	5
441	BETWEEN NAMKHANA BRIDGE AND LALPUL BRIDGE ON NH12	SOUTH 24 PARGANAS	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots 1	15	4
442	WITHIN 5 KM FROM PANCHLA BUS STAND ON NH16 LHS TOWARDS DHULAGARH	HOWRAH	REGULAR	250	OPEN	сс	35	35	1225	32	12	Bidding 3	30	5
443	BETWEEN SANPUR MORE AND SALAP MORE ON MAKARDAH ROAD	HOWRAH	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots 1	15	5
444	WITHIN 7 KMS FROM DEBRA TOLL PLAZA TOWARDS KOLAGHAT ON NH-16 ON THE LHS.	PASCHIM MEDINIPUR	REGULAR	440	SC	CFS	35	35	1225	0	0	Draw of Lots 0)	3
445	ON RHS ON PRINCE ANWAR SHAH ROAD FROM JADAVPUR POLICE STATION TO KALIKAPUR EM	SOUTH 24 PARGANAS	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of Lots 1	15	4
446	WITHIN 2KM FROM CTI MORE ON BENARAS ROAD TOWARDS BELGACHIA, DIST. HOWRAH	HOWRAH	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of Lots 1	15	5
447		HOWRAH	REGULAR	110	OPEN	DC	35	35	1225	32	75	Draw of Lots 1	.5	5
448	HOWRAH FROM BISWABANGLA GATE TO CITY CENTER 2 ON EITHER SIDE	NORTH 24 PARGANAS	REGULAR	500	ST	CFS	20	20	400	0	0	Draw of Lots 0)	3
449	ON GARIA PANCHASYAR ROAD	SOUTH 24 PARGANAS	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots 1	15	4
450	WITHIN 3 KM OF DEORAH BRIDGE ON SH15 TOWARDS BAGNAN	HOWRAH	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of Lots 1	15	5
451	BETWEEN TOPSIA MORE AND TANGRA SUB POST OFFICE ON TOPSIA-TANGRA ROAD	KOLKATA	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots 1	15	5
452	MADARTALA TO ZAFARPUR ON SH 3	NORTH 24 PARGANAS	REGULAR	175	OBC	DC	35	35	1225	32	75	Draw of Lots 1	15	4
453	RHS ON NH-16 FROM KOLAGHAT TO KHARAGPUR BETWEEN DEULIA BAZAR TO SIDDHA BAZAR.	PURBA MEDINIPUR	REGULAR	440	SC	CFS	35	35	1225	0	0	Draw of Lots 0)	3
454	ON HIDE ROAD KOLKATA	KOLKATA	REGULAR	410	OPEN	DC	20	20	400	32	75	Draw of Lots 1	15	5
455	ON JAMES LONG SARANI BETWEEN TARATALA AND JOKA (WITHIN KMC LIMIT)	SOUTH 24 PARGANAS	REGULAR	200	OPEN	DC	20	20	400	32	75	Draw of Lots 1	15	5
456	LAUHATI TO SHYAMNAGAR ON SH-3 WITHIN NORTH 24 PARGANAS DISTRICT	NORTH 24 PARGANAS	REGULAR	140	OBC	DC	35	35	1225	32	75	Draw of Lots 1	15	4
457		PURBA MEDINIPUR	REGULAR	440	sc	CFS	35	35	1225	0	0	Draw of Lots 0)	3
458	FLYOVER. FROM UNITECH MORE TO AKANSHA MORE ON EITHER SIDE	NORTH 24 PARGANAS	REGULAR	350	OPEN	СС	20	20	400	32	12	Bidding 3	30	5
459	LHS ON NH-16 FROM DEULIA TO MECHOGRAM.	PURBA MEDINIPUR	REGULAR	540	OPEN	DC	35	35	1225	32	95	Draw of Lots 1	15	5
460	ON ANY MAJOR ARTERIAL ROAD OF SECTOR1, SALTLAKE	NORTH 24 PARGANAS	REGULAR	300	OBC	СС	20	20	400	32	12	Bidding 3	30	4
461	ANYWHERE ON COLD DOCK DEPOT ROAD - REMOUNT ROAD	KOLKATA	REGULAR	400	OPEN	DC	20	20	400	32	75	Draw of Lots 1	15	5
462	FROM NIMTA PS OUTPOST TO MURAGACCHA WITHIN MUNICIPAL LIMITS ON RHS ON KALYANI	NORTH 24 PARGANAS	REGULAR	225	ST	CFS	20	20	400	0	0	Draw of Lots 0)	3
Ь	EXPRESSWAY			l		L	1							

							1	I		1	1	I I	1.
463	ON ANY MAJOR ARTERIAL ROAD OF SECTOR2, SALTLAKE	NORTH 24 PARGANAS	REGULAR	300		CC	20	20	400	32	12	Bidding 30	4
464	FROM SINTHEE MORE TO DUNLOP CHOWK ON EITHER SIDE	NORTH 24 PARGANAS	REGULAR	300	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots 15	5
465	FROM NATURE PARK TO RABINDRANAGAR POLICE STATION ON NATURE PARK - SANTOSHPUR ROAD (WITHIN KMC LIMIT)	KOLKATA	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of Lots 15	5
466	ON ANY MAJOR ARTERIAL ROAD OF SECTOR4, SALTLAKE	NORTH 24 PARGANAS	REGULAR	300	SC	CFS	20	20	400	0	0	Draw of Lots 0	3
467	ON ANY MAJOR ARTERIAL ROAD OF SECTOR3, SALTLAKE	NORTH 24 PARGANAS	REGULAR	300	OBC	СС	20	20	400	32	12	Bidding 30	4
468	ON DOCK EASTERN ROAD, KHIDDIRPORE	KOLKATA	REGULAR	400	OPEN	DC	20	20	400	32	75	Draw of Lots 15	5
469	FROM TARATALA FLYOVER ON DH ROAD TO JINJIRA BAZAR ON TARATALA ROAD	KOLKATA	REGULAR	300	OPEN	DC	20	20	400	32	75	Draw of Lots 15	5
470	DEGANGA TO BERACHAMPA ON SH-2	NORTH 24 PARGANAS	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots 0	3
471	ON ANY MAJOR ARTERIAL ROAD OF SECTOR5, SALTLAKE	NORTH 24 PARGANAS	REGULAR	300	OBC	DC	20	20	400	32	75	Draw of Lots 15	4
472	BETWEEN ASANSOL TO JHARKHAND BORDER ON NH 2 (NEW NO 19) ON LHS WHILE GOING FROM ASANSOL TO JHARKHAND	PASCHIM BARDHAMAN	REGULAR	300	OPEN	сс	35	35	1225	32	12	Bidding 30	5
473	WITHIN DURGAPUR CITY LIMIT	PASCHIM BARDHAMAN	REGULAR	200	OPEN CC 2	DC	20	20	400	32	75	Draw of Lots 15	5
474	RANAGRAM BRIDGE TO KHAGRAGHAT RAILWAY CROSSING ON SH 11	MURSHIDABAD	REGULAR	115	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots 15	4
475	ON THE ROAD CONNECTING BOLPUR AND AHMEDPUR	BIRBHUM	REGULAR	130	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots 0	3
476	BETWEEN ASANSOL TO JHARKHAND BORDER ON NH 2 (NEW NO 19) ON RHS WHILE GOING FROM ASANSOL TO JHARKHAND	PASCHIM BARDHAMAN	REGULAR	200	OPEN	СС	35	35	1225	32	12	Bidding 30	5
477	ON THE ROAD CONNECTING DSP MAIN GATE AND DSP TOWNSHIP A ZONE	PASCHIM BARDHAMAN	REGULAR	200	OPEN	DC	20	20	400	32	75	Draw of Lots 15	5
478	WITHIN 5 KM OF ILLAMBAZAR POLICE STATION ON SH 14 ON RHS WHILE MOVING FROM ILLAMBAZAR TOWARDS SURI	BIRBHUM	REGULAR	150	OBC	DC	35	35	1225	32	75	Draw of Lots 15	4
479	WITHIN 5 KM RADIUS OF SURATHESWAR SHIB TEMPLE	BIRBHUM	REGULAR	145	SC	CFS	35	35	1225	0	0	Draw of Lots 0	3
480	BETWEEN SURI TO RAJNAGAR ON SH 06	BIRBHUM	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of Lots 15	5
481	WITHIN 2 KM RADIUS OF RAYPUR ON SURI RAMPURHAT ROAD - NH 60 (NEW NH NO - 14)	BIRBHUM	REGULAR	600	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5
482		BIRBHUM	REGULAR	265	OBC	DC	35	35	1225	32	75	Draw of Lots 15	4
483		BIRBHUM	REGULAR	175	OPEN	DC	35	35	1225	32	75	Draw of Lots 15	5
484	BANGLA UNIVERSITY WITHIN 10 KM OF IISCO PLANT BOUNDARY ON MAIN OR ARTERIAL ROAD	PASCHIM BARDHAMAN	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots 0	3
485	WITHIN THE PERIPHERY OF 2 KM OF LALIAPUR ON SH - 11	BIRBHUM	REGULAR	175	OPEN	DC	35	35	1225	32	75	Draw of Lots 15	5
486	RAMPURHAT TOWN - WITHIN MUNICIPAL LIMIT	BIRBHUM	REGULAR	300	OBC	DC	20	20	400	32	55	Draw of Lots 15	4
487	WITHIN 10 KM RADIUS OF AHMEDPUR ON SH 06	BIRBHUM	REGULAR	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots 15	5
488	RAGHUNATHGANJ 132 KV SUBSTATION (UMARPUR) TO AHIRAN BRIDGE ON NH 12	MURSHIDABAD	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots 0	3
489	BETWEEN DUBRAJPUR TO SURI ON NH 60	BIRBHUM	REGULAR	200	OBC	DC	35	35	1225	32	95	Draw of Lots 15	4
490		PASCHIM BARDHAMAN	REGULAR	172	OPEN	DC	35	35	1225	32	75	Draw of Lots 15	5
491	DISTRICT BETWEEN RANIGANJ TO AJAY RIVER BRIDGE ON NH 60 (NEW NH NO - 14)	PASCHIM BARDHAMAN	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5
492	WITHIN 10 KM RADIUS OF RANIGANJ	PASCHIM BARDHAMAN	REGULAR	160	OBC	DC	20	20	400	32	55	Draw of Lots 15	4
493	WITHIN 6 KM OF NADANGHAT BRIDGE TOWARDS KUSUMGRAM BUS STAND ON SH 8	PURBA BARDHAMAN	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots 0	3
494	WITHIN 10 KM RADIUS OF KIRNAHAR	BIRBHUM	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of Lots 15	5
495	ON BERHAMPORE BYPASS ON RHS FROM PALSANDA TO BALARAMPUR	MURSHIDABAD	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5
496	FROM SAINTHIA TOWARDS BEHERAMPORE ON SH 11 IN BIRBHUM DISTRICT	BIRBHUM	REGULAR	125	OBC	DC	35	35	1225	32	75	Draw of Lots 15	4
497	BETWEEN RAJGRAM TO NALHATI ON SH 07	BIRBHUM	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots 0	3
498	WITHIN 2 KM OF TURKU HANSDA LAPSA HEMRAM MAHAVIDYALAY ON NH 60 (NEW NH NO 14)	BIRBHUM	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5
499	BETWEEN PURANDARPUR TO SURI ON SH 06	BIRBHUM	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of Lots 15	5
500	FROM SEKHALIPUR HIGH SCHOOL TO BHAGWANGOLA GRAM PANCHAYAT OFFICE ON	MURSHIDABAD	REGULAR	150	OBC PH	DC	35	35	1225	32	75	Draw of Lots 15	4
501	RAGHUNATHGANJ-BHAGWANGOLA RD WITHIN 5 KM OF RASULPUR BHUBAN MOHON HIGH SCHOOL TOWARDS MEMARI TOWN ON SH 13	PURBA BARDHAMAN	REGULAR	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots 0	3
502	BETWEEN REJINAGAR AND BELDANGA ON NH 12 ON LHS MOVING FROM REJINAGAR TOWARDS	MURSHIDABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5
	BELDANGA				L						L		

503	BETWEEN REJINAGAR AND BELDANGA ON NH 12 ON RHS MOVING FROM REJINAGAR TOWARDS	MURSHIDABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5 I	5
	BELDANGA													
504	WITHIN 8 KM OF NALINI BAGCHI SETU (BALIRGHAT) ON CHUNAKHALI-JALANGI RD	MURSHIDABAD	REGULAR	125		DC	35	35	1225	32	75	Draw of Lots 15		4
505	BETWEEN DVC MORE, DURGAPUR TO BUDBUD ON NH 2 (NEW NO - 19)	PASCHIM BARDHAMAN	REGULAR	235	OPEN	CC	35	35	1225	32	12	Bidding 30	0	5
506	ON STATE HIGHWAY 14 BETWEEN ILLAMBAZAR TO DUBRAJPUR	BIRBHUM	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots 0		3
507	ON BERHAMPORE BYPASS ON LHS GOING FROM PALSANDA TO BALARAMPUR	MURSHIDABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5	5
508	SAJURMORE TO DAK BUNGLOW MORE (DHULIYAN) ON NH 12	MURSHIDABAD	REGULAR	190	OBC	DC	35	35	1225	32	95	Draw of Lots 15	5	4
509	BETWEEN SUKHIMORE TO PALSANDAMORE ON NH12 ON LHS WHILE GOING FROM SUKHIMORE TOWARDS PALSANDAMORE	MURSHIDABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5	5
510	GUSKHARA SCHOOL MORE TO GOBINDAPUR SEPHALI MEMORIAL POLYTECHNIC ON NH-114	PURBA BARDHAMAN	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots 0		3
511	BETWEEN INTERSECTION OF SH15 AND SH8 AT KUSUMGRAM AND DAINHAT MORE ON SH 15	PURBA BARDHAMAN	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots 15	5	4
512	FROM KM STONE 598 TO 592 ON NH-19 (DURGAPUR EXPRESSWAY) ON LHS MOVING FROM KOLKATA TO DURGAPUR	PURBA BARDHAMAN	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5	5
513	FROM KATWA FIRE STATION TO JAJIGRAM RAIL CROSSING ON SH	PURBA BARDHAMAN	REGULAR	105	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots 15	5	5
514	KANDI BRIDGE TO RANAGRAM BRIDGE ON SH 11	MURSHIDABAD	REGULAR	115	OBC	DC	35	35	1225	32	75	Draw of Lots 15	5	4
515	FROM 108 SHIV MANDIR TO PNB HALDI BRANCH ON NH-114	PURBA BARDHAMAN	REGULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots 0		3
516	JIAGANJ TOWN (WITHIN MUNICIPALITY LIMITS)	MURSHIDABAD	REGULAR	110	OPEN	DC	20	20	400	32	55	Draw of Lots 15	5	5
517	SEKHALIPUR HIGH SCHOOL TO KANTAKHALI PUTHIA HIGH SCHOOL ON BHAGWANGOLA RAGHUNATHGANJ RD	MURSHIDABAD	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding 30)	5
518	WITHIN 5 KM OF SHIBPUR TOLL PLAZA GOING TOWARDS BERHAMPORE ON NH 12 (OLD NH 34)	MURSHIDABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots 15	5	4
519	WITHIN 8 KMS FROM BANKURA BORDER MOVING TOWARDS KHANDAGHOSH ON SH-8	PURBA BARDHAMAN	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots 0		3
520	BETWEEN CHAKDHA CHAURASTA TO RANAGHAT RAIL GATE ON NH-12 ON LHS WHILE GOING	NADIA	REGULAR	230	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5	5
521	FROM CHAKDHA TO RANGHAT WITHIN 4 KM OF NETAJI STATUE AT ISLAMPUR BAZAR, MOVING TOWARDS BERHAMPORE, ON	MURSHIDABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5	5
522	DOMKAL-CHUNAKHALI RD FROM KANDI BUS STAND MARKET TO FARASDANGA ON SWAMI AKHANDANANDA SARANI (WITHIN	MURSHIDABAD	REGULAR	105	OPEN	DC	20	20	400	32	55	Draw of Lots 15	5	5
523	MUNICIPALITY LIMITS) WITHIN ASANSOL MUNICIPAL LIMIT - ON MAIN OR ARTERIAL ROADS	PASCHIM BARDHAMAN	REGULAR	300	OBC CC 1	СС	20	20	400	32	12	Bidding 30	0	4
524	WITHIN 5 KM OF SHIBPUR TOLL PLAZA GOING TOWARDS DHULIYAN ON NH 12 (OLD NH 34)	MURSHIDABAD	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots 0		3
525	BETWEEN PANAGARH AND PURSHA BLOCK PHC ON NH 19 ON LHS GOING FROM DURGAPUR TO KOLKATA	PURBA BARDHAMAN	REGULAR	155	OPEN PH	СС	35	35	1225	32	12	Bidding 30)	5
526	SEIKHDIGHI TO RAGHUNATHGANJ 132 KV SUBSTATION (UMARPUR) ON NH 12	MURSHIDABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots 15	5	4
527	BEHRAMPORE TOWN(WITHIN MUNICIPAL LIMITS)	MURSHIDABAD	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of Lots 15	5	5
528	BETWEEN CHAKHDA MORE TO BALIA BAZAR ON SH-1 ON RHS WHILE GOING FROM CHAKHDA TO	NADIA	REGULAR	140	SC	CFS	35	35	1225	0	0	Draw of Lots 0		3
529	BALIA WITHIN BIRNAGAR MUNICIPALITY ON ARANGHATA ROAD	NADIA	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of Lots 15	5	5
530	DOMKAL BRIDGE TO MADHUBONA ON DOMKAL-JALANGI-KARIMPUR RD	MURSHIDABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots 15	5	4
531	BETWEEN 3RDAVENUE GATE,ULHAS AND PALSIT TOLLPLAZA ON NH-19 ON LHS GOING FROM	PURBA BARDHAMAN	REGULAR	185	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5	5
532	DURGAPUR TO KOLKATA WITHIN 18 KM OF PALSIT TOLL PLAZA ON NH 19, ON LHS/RHS, FROM PALSIT TOLL PLAZA	PURBA BARDHAMAN	REGULAR	190	OPEN	СС	35	35	1225	32	12	Bidding 30)	5
533	TOWARDS KOLKATA BETWEEN PALSIT TOLL PLAZA AND MAGNUS GLOBAL SCHOOL ON NH19 ON LHS MOVING FROM	PURBA BARDHAMAN	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of Lots 0		3
534	KOLKATA TO DURGAPUR NETAJI STATUE AT ISLAMPUR BAZAR TO DOMKAL BRIDGE ON DOMKAL-JALANGI-KARIMPUR RD	MURSHIDABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots 15	5	4
535	FROM BANKURA MORE TO UCHALAN ON BARDHAMAN ARAMBAGH RD	PURBA BARDHAMAN	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5	5
536	KATWA TOWN WITHIN MUNICIPALITY LIMITS	PURBA BARDHAMAN	REGULAR	145	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots 15	5	5
537	WITHIN 20 KM OF MAGNUSGLOBALSCHOOL ON NH19, ON LHS GOING FROM	PURBA BARDHAMAN	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots 0		3
538	MAGNUSGLOBALSCHOOL TO DURGAPUR BETWEEN SUKHIMORE TO PALSANDAMORE ON NH12 ON RHS WHILE GOING FROM SUKHIMORE	MURSHIDABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots 15	5	4
539	TOWARDS PALSANDAMORE FROM SAROJ MOHAN INSTITUTE OF TECHNOLOGY, GUPTIPARA TO NIBHUJI MORE ON STKK RD	PURBA BARDHAMAN	REGULAR	115	OPEN	DC	35	35	1225	32	75	Draw of Lots 15	5	5
540	FROM DAK BUGLOW MORE (DHULIYAN) TO PROF. SNH COLLEGE (FARAKKA) ON NH12	MURSHIDABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots 15	5	5
541	FROM SAJURMORE TO AHIRON BRIDGE ON NH 12	MURSHIDABAD	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots 15	5	4
542	JAVA TO NINTH MILE MORE ON KRISHNANAGAR TO KARIMPUR ROAD	NADIA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots 0		3
Ь			l	L	l	L	L	L		L	l			

543	UMARPUR MORE TO TEGHARI 1 GRAM PANCHAYAT OFFICE ON BHAGWANGOLA-RAGHUNATHGANJ	MURSHIDABAD	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
544	RD WITHIN 10 KM OF NORJA MORE ON BARDHAMAN-MONGOLKOTE RD	PURBA BARDHAMAN	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
545	WITHIN 12 KM FROM DHALDANGA MORE ON DHALDANGA - TALDANGRA ROAD (SH 9)	BANKURA	REGULAR	160	OBC	СС	35	35	1225	32	12	Bidding	30	4
546	WITHIN 3 KM OF BAGILA 33 KV SUBSTATION ON SH 13	PURBA BARDHAMAN	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
547	BURDWAN CITY ON OLD GT ROAD	PURBA BARDHAMAN	REGULAR	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
548	WITHIN 4 KM FROM BELIATORE BUS STAND ON DURGAPUR - BANKURA ROAD ON SH	BANKURA	REGULAR	240	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
549	TALPAT MORE TO BANKURA - PURULIA DISTRICT BORDER ON SH 5	PURULIA	REGULAR	150	OBC	cc	35	35	1225	32	12	Bidding	30	4
550	BETWEEN KM STONE NO. 14 AND 17 ON SIMLAPAL - KHATRA ROAD (SH 2)	BANKURA	REGULAR	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
551	WITHIN 4 KM OF KANKARDANGA MORE, WHILE GOING FROM KANKARDANGA MORE TO SONAMUKHI ON SH-8	BANKURA	REGULAR	180	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
552	KANKARDANGA MORE TO BANKURA -BARDHWAN BORDER ON SH 8	BANKURA	REGULAR	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
553	WITHIN 2 KM FROM LOKHATORA MAHASAMSHAN ON SH (NOT ON NH)	BANKURA	REGULAR	210	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
554	WITHIN MUNICIPALITY LIMITS OF BISHNUPUR	BANKURA	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
555	WITHIN 3 KM FROM CHASMORE ON SH 4A	PURULIA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
556	BARJORA MORE TO FULBERIYA TOWARDS BANKURA ON SH 9	BANKURA	REGULAR	240	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
557	WITHIN 2 KM FROM BISHNUPUR POLICE STATION, BISHNUPUR WML	BANKURA	REGULAR	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
558	WITHIN 3 KM FROM DWARKESHWAR UDYAN ON DWARKESHWAR UDYAN LOKPUR RIVER VALLEY ROAD	BANKURA	REGULAR	180	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
559	WITHIN 5 KM FROM SANKA GATE ON SH-5	PURULIA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
560	BALRAMPUR COLLEGE TO JHARKHAND BORDER ON NH18 (NH 32) TOWARDS DETYA	PURULIA	REGULAR	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
561	KALISEN TO RAMSAGAR ON NH 60 (NH14)	BANKURA	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
562	WITHIN 16 KM FROM BELIATORE BUS STAND ON SH 8 (BELIATORE - SONAMUKHI ROAD)	BANKURA	REGULAR	140	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
563	WITHIN 8 KM FROM SONAMUKHI CHOU MATHA POINT TOWARDS RASULPUR ON SH 8	BANKURA	REGULAR	170	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
564	DAMDA MORE TO BARA URMA HIGH SCHOOL ON NH 18 (NH 32)	PURULIA	REGULAR	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
565	BETWEEN DAMODAR BARRAGE & BARJORA ON SH 9	BANKURA	REGULAR	240	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
566	WITHIN 7 KM FROM NETAJI MORE BUS STAND KOTULPUR , FROM NETAJI MORE BUS STAND TO JOYPUR, ON SH 2	BANKURA	REGULAR	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
567	WITHIN 5 KM FROM MANBAZAR POLICE STATION ON SH5	PURULIA	REGULAR	185	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

568	CHINPINA TO BENAGARIA ON SALTORA - RAGHUNATHPUR ROAD (SH 8)	PURULIA	REGULAR	160	sc	CFS	35	35	1225	10	lo.	Draw of Lots	lo	3
	, ,													Ŭ
569	BORTORIA HIGH SCHOOL TO RAGHUNATHPUR COLLEGE ON SH 5	PURULIA	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
570	WITHIN 20 KM FROM CHAKALTOR MORE ON CHAKALTOR - MANBAZAR ROAD (SH5)	PURULIA	REGULAR	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
571	HATIRAMPUR TO KHATRA 132 KV SUBSTATION ON SH	BANKURA	REGULAR	180	OBC	СС	35	35	1225	32	12	Bidding	30	4
572	BETWEEN SAGARCHAKA TO CHAMTABYDE ON SH9	BANKURA	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
573	ON STATE HIGHWAY 05 IN PASCHIM BARDHAMAN DISTRICT	PASCHIM BARDHAMAN	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
574	BETWEEN RANAGHAT RAIL GATE TO CHAKHDA CHOUMATHA ON NH-12 ON LHS WHILE GOING FROM RANAGHAT TO CHAKHDA	NADIA	REGULAR	210	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
575	WITHIN 5 KM OF RUKNI MORE ON SH 8 (CHANDANKIYARI-DUBRA-RAGHUNATHPUR ROAD) TOWARDS RACHUNATHPUR	PURULIA	REGULAR	130	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
576	BETWEEN KM STONE NO. 3 AND 8 ON BISHNUPUR-ARAMBAG ROAD (SH-2)	BANKURA	REGULAR	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
577	BISKUDRA TO GOVT. ITI MANBAZAR ON SH 4	PURULIA	REGULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
578	WITHIN 12 KM FROM HEAVY MORE ON SH WHILE GOING FROM HEAVY MORE TOWARDS BELIATORE	BANKURA	REGULAR	240	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
579	WITHIN 10 KM FROM DURLAVPUR BUS STOP TOWARDS MEJIA ON NH 60 (NH14)	BANKURA	REGULAR	265	OPEN	сс	35	35	1225	32	12	Bidding	30	5
580	BETWEEN GACHA BAZAAR TO BETHUADAHARI ON NH-12 ON LHS WHILE GOING FROM GACHA BAZAAR TO BETHUADAHARI	NADIA	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
581	KALEKHANTALA-1 GRAM PANCHAYAT OFFICE TO PANCHGHARA MORE ON STKK RD	PURBA BARDHAMAN	REGULAR	125	OBC	СС	35	35	1225	32	12	Bidding	30	4
582	WITHIN 4 KM FROM SANTURI POLICE STATION ON SH 8 ON SANTURI RAGHUNATHPUR ROAD TOWRADS RAGHUNATHPUR	PURULIA	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
583	BETWEEN CHHOTA ANDULIA TO MALIAPOTA ON KRISHNANAGAR TO KARIMPUR ROAD	NADIA	REGULAR	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
584	BETWEEN CHAKHDA CHOUMATHA TO JAGULI CHOUMATHA ON NH-12 ON LHS WHILE GOING FROM CHAKDHA TO JAGULI	NADIA	REGULAR	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
585	BETWEEN JATRAPUR TO HANSKHALI ON KRISHNANAGAR TO BAGULA ROAD	NADIA	REGULAR	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
586	BETWEEN NH-12 JUNCTION-RANAGHAT TO BADKULA ON SH-11	NADIA	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
587	HOTEL NILACHAL-BAHADURPUR TO GACHA BAZAR ON NH-12 ON LHS WHILE GOING FROM BAHADURPUR TO GACHA BAZAR	NADIA	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
588	BETWEEN KM STONE NO 93 TO KM STONE NO 98 ON NH-12 ON RHS WHILE GOING FROM FULIA TO SANTIPUR	NADIA	REGULAR	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
589	BETWEEN BIROHI BAZAAR TO UMAPUR ON SH-1	NADIA	REGULAR	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
590	BETWEEN TEHATTA TO BETAI ON KRISHNANAGAR-KARIMPUR ROAD	NADIA	REGULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
591	BHALUKA MORE TO NABADWIP BRIDGE ON SH-8	NADIA	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
592	BETWEEN JHITKIPOTA RAIL GATE TO BADKULA ON SH-11	NADIA	REGULAR	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
593	BETWEEN CENTRAL WAREHOUSE, SARUL AND SHARANYA HOSPITAL ON NH19, ON LHS FROM DURGAPUR TO KOLKATA	PURBA BARDHAMAN	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
594	BETWEEN MEDICAL CHATHAT MORE AND CANAL MORE ON RANGAPANI ROAD	DARJEELING	REGULAR	120	OPEN	СС	35	35	1225	32	12	Bidding	30	5
595	FROM ATPUKHARI NAYAHAT POST OFFICE TO RAMTHENGA HIGH SCHOOL ON FALAKATA- SILDANGA MDR	COOCH BEHAR	REGULAR	100	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
596	SILDARGA MDR BETWEEN 3RD MILE SIMKUNA CHECK POST AND JOREBUNGLOW ON SIMKUNA JOREBUNGLOW IROAD	DARJEELING	REGULAR	120	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	IVOND												L	

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

 $Application for RO \ dealership \ along \ with \ online \ payment \ of \ Non-refundable \ application fee, \ as \ applicable \ (detailed \ below), \ should \ be \ submitted \ on-line \ by \ 17/10/2023.$

Type of RO	Type of Site		Application fee in Rs.	Type of RO	Type of Site		Application fee in Rs.
Regul	CFS	SC/ST	3000	Rural ROs	CFS	SC/ST	2500
ar ROs	СС	OBC	5000		CC	OBC	4000
ROS	сс	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Terri	t Address	Districts Covered	Contact No.
ory			
Kolk	a Territory Coordinator (Retail), BPCL, Bharat Bhavan, 1st Floor,	i. Hooghly ii. Howrah iii. Jhargram iv. Kolkata v.North 24 Parganas	i.033-24293460
ta	Prince Gulam Md. Shah Road, Golf Green, Kolkata, West Bengal, PIN - 700095.	vi. Paschim Medinipur vii. Purba Medinipur viii. South 24 Parganas	ii.9123370185 iii.033-
			24293050 iv.9401977839
Durg	Territory Coordinator (Retail), BPCL, Rajbandh TOP, Rajbandh Chatty, Durgapur,	i. Bankura ii. Paschim Bardhaman iii. Purba Bardhaman iv.	i.7047704737
pur	Dist.: Paschim Bardhman, West Bengal, PIN - 713212.	Birbhum v.Purulia vi. Murshidabad vii. Nadia	ii.9401977839
			iii.0343-2520527 iv. 0343-
			2520114
Silig	Territory Coordinator (Retail), BPCL, NJP TOP, PO: Bhaktinagar, New Jalpaiguri,	i. Alipurduar ii. Coochbehar iii. Dakshin Dinajpur iv. Darjeeling v.	i.9101393412
ri	Dist.:Jalpaiguri, West Bengal, PIN - 734007.	Jalpaiguri vi. Kalimpong vii. Malda viii. Uttar Dinajpur	ii.9129043710 iii.0353-
			2691864